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ก����ก	�
��
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�������������ก
�����  �
� �!"ก����ก	�##ก$%&
 2 (!�
 �)# 
�*$����+,������
�����"
��
ก����� -�$�.�   -�(���"
��
�������
�������������ก
�����  
/
�.����-�$#��
0-ก����ก	�
�"
�� 
 

��ก
������
�������
����
�
� !
�ก
��
�"����#� 
 

 ก����ก	�
��
�������
��� (WQI) ����������ก
����� ก�����ก	�/��"ก��(!"
���
 -������"��ก	��-#"$�����-$(��+�  ��"+��
(������   -���"+��
���
�����#��7��  $ก8������.
��#.9-������
�����"
��
ก����� -�$�.�  ��ก 12 (;�
�   �!"$%&
�-#"(!"
��� 1 (;�
�   -�
�)�
��������
�����ก
����� 11 (;�
�  $ก8�<��#�!�"
������"+.
 4 �!�" �
� ก! �!�"$�*�.$���%-9ก 
($
)#
ก�.����
7,) �!�" <กก# ($
)#
.�
��.) �!�"##ก��" ($
)#
$.	��
)  -��!�"$ก8�$ก���� 
($
)#
�=	���.)  /
�.�0-ก����ก	�
�"
�� 
 ก����ก	�������
���
��
$�.� �
� ก! �
$<��-�
/<�$�
 (NO3

--N) ���.<�#"ก��
##กA*$�
��"���$�.� (BOD)  #./.$
��-�
/<�$�
 (NH3-N) E#($E<-E#(E#��( (PO4

3--P)   -�
(��G!���<�9�)� -�(�<�,   ������
���
��
ก����� �
� ก! ���.��!
 (turbidity) ก��
���EEO� 
(conductivity) #��+�9.*
��� (water temperature) ���.$%&
ก�
-$�( (pH) �#" �8" ��
-#� 
(SS)   -��#" �8"-�-��
��� (TDS) /
�.�0-ก��<����*$����+,  ������
���  (���0
�ก ก)  
�"
��  
  
 ��
#�$%�ก� -��' (pH) 
 ��กก����ก	����!����.$%&
ก�
-$�(.��*(��#�9![
�!�" 6.60-8.10 (;�
� SH 06 
+
#"ก� [
�!�"$ก8�$ก����.��!�<���(�
��*$��(;�
�$ก8�<��#�!�".�+ �̀��ก�*.�-#" 
���[( .�(�$+-)#"
$��. .��)�
��� -�$�	ก*�"�.�-#�#�9![

��� (;�
� SH10 +
#"%-*"1 [
�!�"$�*�.$���%-9ก.��!����.
$%&
ก�
-$�(.�ก���(�
 ��*$����
$ก8�<��#�!�"
�����!
 .�$�	�.� -��)� �*.�-#".�<�
ก-��� <�
�!#� 
+ �̀����
�ก  ��(ก� (��7�

�, (2542) ก-!���!� ก������!����.$%&
ก�
-$�(.��!� <ก<!�"ก�
#��
$%&
�
��!�$
)�#"��ก(���ก��[��%��/��
,���
*
 -�ก����-��"�#"
*
   <!.����.0�
 %�ก�

�#�
.�ก[
�!�"ก��$<���. %-"��+�!�"ก��$���%-9ก -���+�!�"ก��$ก8�$ก���� 
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ก
���
,--.
 (conductivity) 
 ก��
���EEO�.��!��*(��#�9![
�!�" 328-1,551 �./��A�$.
<,<!#$A
<*$.<� (;�
� SH 06 
+
#"ก� [
�!�"$�*�.$���%-9ก.��!�<���(�
 ��*$��(;�
�$ก8�<��#�!�"�*.�-#".�+ �̀����
�ก 
�����!

$-8ก
�#� 
���-�ก%��.�� 20 $A
<*$.<�  -�(;�
� SH 05 �!�+-�" [
�!�"##ก��".��!�ก��
���EEO�
.�ก���(�
 $ก8�<��#�!�"
�����!
.�ก �*.�-#".�+ �̀����
�ก ��กก��(#�;�.$ก	<�ก���*$��(;�
�
$ก8�<��#�!�"�����!�$ก	<�ก�ก!#
+
��
�� 1 ��
 $ก	<�ก��
�c�
�!
(�������" -�(��%O#"ก�
$�)�#��
[+�ก��<�
���� A��"#�����[+�.��!�ก��
���EEO�$�*�..�ก���
 A��"�!�ก��
���EEO� (
";�"ก�� <ก<���#"
%�����#"(��$�.�[

��� ก��
���EEO����$�����.��!�[ก-�$���"ก��%�*.���#" �8"���"+.
���-�-��
#�9![

��� ($%de�.��ก
*f $.
�$��<, 2538) 
 


����8#� (water temperature)  
��กก����ก	����!�#��+�9.*#�9![
�!�" 30-32 #"��$A-$A��( A��".��!����[ก-�$���"ก�


[
��ก(;�
�  ��ก.�<�g�
������
���[
 +-!"
���0*�
*
ก��+

�!�#��+�9.*[+�$%&
�%<�.
7��.��<* -�#��+�9.*�#"
�����<�#"�.!(9"ก�!�#��+�9.*<�.7��.��<* �)# �.!$ก*
 3 #"��$A-$A��( 
/
�%ก<*#��+�9.*�#"
���[
 .!
���-���-#" -� +-!"
���[
%��$�����#�9!��+�!�" 20-35 #"��
$A-$A��( ($ก	. ��
��, ก��, 2525) 

 
��
#>!
�ก
�

ก?�����
�@����#� (BOD) 
���.<�#"ก��##กA*$�
��"���$�.��!��*(��#�9![
�!�" 0.8-7.0 .*--*ก��.<!#-*<� ���

(;�
� SH 01 /�"(9�
���$(��+� �!�" <กก#.��!�
�#����(�
 �)�
���$ก8�<��#�!�"$%&
�-#"(!"
���.��)�
���
+
� 
!
 
����+- �"<-#
$�-�[
���$ก8�<��#�!�".�h
<ก-".�  -����(;�
� SH 10 +
#"%-*"1 
�!�"$�*�.$���%-9ก.��!�.�ก���(�
  ��
$ก8�<��#�!�"
���
*�".�%�*.��
���
�#�.�ก 
�����!
 .�$�	�.� -�
[��.�[

������
�
.�ก �*.�-#".�<�
ก-��� <�

�#�+
!�  -�+ �̀����
�
.�ก 

 
,��>��-,�D>���� (NO3

- -N) 
�
$<��-�
/<�$�
.��!��*(��#�9![
�!�" 0.00-0.13 .*--*ก��.<!#-*<�  ��*$��(;�
�  

SH 01 /�"(9�
���$(��+�A��"$%&
�-#"(!"
��� (;�
� SH 02 $(��+�  $%&
�-#"�����
���  -�(;�
� 
SH 07 /�ก(�#�
  $%&
�-#"�����
���[
�!�"$ก8�$ก����.��!�
�#����(�
 $
)�#"��ก�!�"
��$ก	<�ก�
$<���.$ก���������.!.�ก��[(!(�������"<�
����  -�(;�
� SH 01 /�"(9�
���  �!�" <กก#.��!�.�ก
���(�
  �)�
���/
��#�.����
$�)#
  0�ก<����  <�
�.�[+ !̀+
� 
!
  .��
(*
 <��i�-$��
,, (2537) 
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ก-!���!�  �
$<��$%&
(��<��(�
������กก��##กA*$
��
�#"�
/<�$�
 (!�
[+ !̀.���ก
(��#*
����,���$
!�$%ke#� -�%�l�  A��"[
 +-!"
���7��.��<*����ก��+

�!��
$<���
/<�$�

%��.�� 0.3 .*--*ก��.<!#-*<�  ;��[
 +-!"
������.��
$<��.�ก#�����[+�$ก*
ก��$�*�.%����ก��#"
�)�
���#�!�"��
$�8�($%de�.��ก
*f $.
�$��<, 2538) 

 
-
'�->--
'-
��' (PO4

3--P)   
E#($E<-E#(E#��(.��!��*(��#�9![
�!�" 0.08-0.91 .*--*ก��.<!#-*<� (;�
� SH 07 

/�ก(�#�
 �!�"$ก8�$ก����.��!�
�#����(�
 ��*$����
$ก8�<��#�!�"%�*.��
���.�ก 
���[( <!.�(�$+-)#" 
.�ก*�"�.�+�ก�!�"#�9![

������
�
.�ก$
)�#"��ก�*.�-#".�<�
�.�[+ !̀ ��*$��/
��#�$%&
��!"
�  -�
(;�
� SH 04 �ก!$(!� �!�"##ก��".��!�.�ก���(�
 ��*$����
$ก8�<��#�!�".�%�*.��
���
�#�.�ก 
���[(
 <!.�(�$+-)#" [

���.�$�	ก*�"�.� -�[��.�-#�#�9!���
�
.�ก ��*$��/
��#�.�/�"(����� ��(ก� 
(��7�

�, (2542) ก-!���!��
�����%#���*
�!�E#(E#��([
 +-!"
���(!�
[+ !̀.���ก%�l�E#($E<
������(�
�
<�
�.�  <!�����*" -��E#($E<�.!$+.)#
�
$<��$�����.!-�-��
��� E#($E<��"�"#�9!
[
�9%%�l���".�(!�

�#����+���% 
�"
��
E#($E<(!�
[+ !̀[
 +-!"
�����".���ก0"A�กE#ก 

 
"
#D#����-,�D>���� (NH3-N) 
 #./.$
��-�
/<�$�
.��!��*(��#�9![
�!�" 0.00-4.95 .*--*ก��.<!#-*<� (;�
� SH 08 

��(*�7*f �!�"$ก8�$ก����.��!�
�#����(�
 ��*$����
$ก8�<��#�!�".�%�*.��
���.�ก -��+-$�8� 
���[(   
�*.�-#".�<�
�.��
�
[+ !̀���
�
.�ก ��*$��/
��#���$
8ก$-!

���  -�(;�
� SH 03 $.)#"$ก!� 
�!�" <กก#.��!�.�ก���(�
 ��*$����
$ก8�<��#�!�"�*.�-#".�+ �̀����
�ก %�*.��
���
�#� 
���[(       
.�$�	[��.�-#�[

���  �!�"
��$ก	<�ก�[(!%�l������"<�
�������[+�.�%�*.�� #./.$
��$�*�.���
 

 
	
�"	H�"	���
� (SS) 
�#" �8" ��
-#�.��*(��#�9![
�!�" 2-206 .*--*ก��.<!#-*<� (;�
� SH 02 $(��+�  -� 

SH 07 /�ก(�#�
 �!�" <กก#.��!�
�#����(�
 ��*$����
$ก8�<��#�!�"���" 2 ��
.�-�ก	���-���ก�

�)# 
���[(�)�
��#"
���.�<����!
��� [

���.��)�
��� �
� ก! 0�ก���" ��� 0�ก<����  -�(;�
�  SH 12 
+
#"%-*"2 �!�"$�*�.$���%-9ก ��*$����
$ก8�<��#�!�"
�����!
.�ก $
)�#"��ก$ก	<�ก��
��;
� -�
%-!#�
���(9!�-#" A��".�<�ก#

*
 -�$�	A�ก�)����
�
.�ก�+-(9!�-#" 
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�"	H����
����
 (TDS) 
�#" �8"-�-��
������"+.
.��*(��#�9![
�!�" 166-778 .*--*ก��.<!#-*<� (;�
� SH 06 

+
#"ก� �!�"$�*�.$���%-9ก.��!�
�#����(�
 ��*$����
$ก8�<��#�!�"%�*.��
���.�ก �*.�-#".�+ �̀�
���
�ก  -�(;�
� SH 04 �ก!$(!� �!�"##ก��".��!�.�ก���(�
 ��*$����
$ก8�<��#�!�".�%�*.��
���
�#�
.�ก 
���[( <!.�(�$+-)#" [

���.�$�	ก*�"�.� -�[��.�-#�#�9!���
�
.�ก ��*$��/
��#�.�/�"(����� 

 
'
�KL
��@�M@�
�
��
� (herbicide) 
(��G!�����)����!�  �.!(�.��;<�����
�
� (non-detection)  /
�#��.�%�*.���#"

(��G!�����)�<���ก�!��!����(�.��;<�����
�
�
�#����(�
 (limit of detection) A��".��!�$�!�ก�� 0.001 
.*--*ก��.<!#-*<�   

 
'
�KL
P�>�8�M@"��'�>��ก��L#

��ก
D�-
'�-> (organophosphate pesticides) 
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< (organophosphate pesticides) ���!�  

�.!(�.��;<�����
�
� (non-detection)  /
�#��.�%�*.���#"(��G!�����)�<���ก�!��!����(�.��;
<�����
�
�
�#����(�
 (limit of detection) A��".��!�$�!�ก�� 0.001 .*--*ก��.<!#-*<� 

 

'
�KL
P�>�8�M@"��'�>��ก��L#�
���
�#> (carbamate pesticides) 
 (��G!���<�9�)� -�(�<�,ก-�!.���,��$.< (carbamate pesticides) ���!�  �.!(�.��;

<�����
�
� (non-detection)  /
�#��.�%�*.���#"(��G!�����)�<���ก�!��!����(�.��;<�����
�
�

�#����(�
 (limit of detection) A��".��!�$�!�ก�� 0.001 .*--*ก��.<!#-*<� 
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$�)�#<�#"ก��[+�09�$�������`���$ก������#"ก��"�
[
(!�
�#"������
���   -��)�
���
$ก	<�ก��.  ��ก���"+
!��"�
���ก��  +
!��"�
$#ก�
   -�(;���
ก����ก	�  $(
#���.
�*
$+8
�!�����.*$<#�,[
(.���
��.��*�����[
ก��(���"
��
�������
�����������##ก��ก
�
���� (���0
�ก �)  0-��ก���(!" ��(#�;�.�%���"+.
 200 �
  ���!�  .� ��(#�;�.(!"<#�
ก-��.����
�
 67 �
  /
�.���ก+
!��"�
���ก�� 24 �
  +
!��"�
$#ก�
 21 �
   -�
(;���
ก����ก	� 22 �
  (������ 4.1) 

 
������ 4.1 

���
�
�
���<#� ��(#�;�.ก-��.� 
 
 
 
 
 
 
 
 
 
 
 
 

ก
�'�!
�'#ก
� �@������
����
������
��
ก�
	!
� 
 

ก��(���"(.ก��
��
����$+.��(.(��+���������
�������������ก
�����  �
���กก��

��
���+
�ก���.(����`�#" <!-�����.*$<#�, (W) A��"+��
���ก ��(#�;�.(!�
��� 1 �9�ก��
��
���� 

����
���ก$(�
/��"$c-����#" <!-�����.*$<#�, (I) ��ก ��(#�;�.(!�
��� 2  $�)�#[��
 (
";�"������
�������������ก
�����  /
� �!"$%&
  4  ���
<#
  
�"
�� 
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	���>
���� 1  �@�����
���ก�L
�	
�">L���
�
#��>
�� (W) 
 
�!�
��
�
���+
�ก�!#��#" <!-�����.*$<#�, (W) (�.��;+��
���ก ��(#�;�.      

(!�
��� 1  .�0-ก����ก	�
�"
�� 
 
(1) ����.*$<#�,������
��.�(���"
��
�������
�������������ก
�����   
(!�
��� 1 �#" ��(#�;�.  [+���������.*$<#�,������
��.��*�����[��[
ก��(���"


��
�������
�������������ก
�����  ��ก ��(#�;�.���
�
 67 �
  A��" ��(#�;�.�
� �!"
�����#"ก��$���%-9ก����##ก$%&
 4  �����
� ก!  ����$�*�.%-9ก  +.��;�"����ก��
9 -��ก	�
����<��" <!ก���;  +�!�
/%sก
�� ($
)#
��� 1)  ���� <กก#  +.��;�"����ก��
9 -��ก	������!�"
 <กก# ($
)#
��� 2)  ����##ก��"  +.��;�"����ก��
9 -��ก	������!�"�������##ก��" ($
)#
��� 3)  
 -�����$ก8�$ก����  +.��;�"�������$ก8�$ก����0-0-*< ($
)#
��� 4)  /
�.�0-��ก ��(#�;�.     
[
   <!-��!�"  
�"
�� 
 ��ก ��(#�;�.[+���������.*$<#�,������
��.��*�����[��[
ก��(���"
��
�
������
�������������ก
�����[
����$�*�.%-9ก ($
)#
��� 1)  ���!�����.*$<#�,������
��.�
�*�����  �
� ก!  �
$<��-�
/<�$�
 ��#�-� 91.04  ���.$%&
ก�
-$�( ��#�-� 89.55  E#($E<-
E#(E#��( ��#�-� 88.06   #./.$
��-�
/<�$�
 ��#�-� 86.57  ก��
���EEO� ��#�-� 83.58  
���.<�#"ก��##กA*$�
��"���$�.� ��#�-� 82.09  (��G!�����)� ��#�-� 82.09  �#" �8"
 ��
-#� ��#�-� 77.61  �#" �8"-�-��
��� ��#�-� 73.13  (��G!���<�9�)� -�(�<�,ก-�!.         
���,��$.< ��#�-� 71.64   -�(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<��#�-� 70.15  
(������ 4.2) 

���� <กก# ($
)#
��� 2)  ���!�����.*$<#�,������
��.��*�����  �
� ก!  ���.$%&

ก�
-$�( ��#�-� 91.04  �
$<��-�
/<�$�
 ��#�-� 91.04  E#($E<-E#(E#��( ��#�-� 88.06  
���.<�#"ก��##กA*$�
��"���$�.� ��#�-� 86.57   #./.$
��-�
/<�$�
 ��#�-� 85.07            
ก��
���EEO���#�-� 82.09  (��G!���<�9�)� -�(�<�,ก-�! .���,��$.< ��#�-� 77.61                   
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< ��#�-� 76.12  (��G!�����)� ��#�-� 65.67  
�#" �8"-�-��
��� ��#�-� 62.69   -��#" �8" ��
-#� ��#�-� 38.81 (������ 4.2) 
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����##ก��" ($
)#
��� 3)  ���!�����.*$<#�,������
��.��*�����  �
� ก!  �
$<��-
�
/<�$�
 ��#�-� 88.06  E#($E<-E#(E#��( ��#�-� 85.07   #./.$
��-�
/<�$�
 ��#�-� 
82.09  ���.<�#"ก��##กA*$�
��"���$�.� ��#�-� 80.60  ���.$%&
ก�
-$�( ��#�-� 77.61  ก��

���EEO� ��#�-� 77.61  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.< ��#�-� 74.63  (��G!���<�9�)�
 -�(�<�,ก-�!.##�,ก�/
E#($E< ��#�-� 73.13  �#" �8" ��
-#� ��#�-� 65.67  (��G!�����)� 
��#�-� 61.19   -��#" �8"-�-��
��� ��#�-� 59.70 (������ 4.2) 

����$ก8�$ก���� ($
)#
��� 4)  ���!�����.*$<#�,������
��.��*�����  �
� ก!  ���.
<�#"ก��##กA*$�
��"���$�.� ��#�-� 67.16 ���.$%&
ก�
-$�( ��#�-� 64.18  �
$<��-�
/<�$�
 
��#�-� 64.18  E#($E<-E#(E#��( ��#�-� 61.19   #./.$
��-�
/<�$�
 ��#�-� 61.19  ก��   

���EEO� ��#�-� 59.70  �#" �8" ��
-#�   ��#�-� 58.21  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/

E#($E< ��#�-� 53.73  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.< ��#�-� 52.24  (��G!�����)�   
��#�-� 46.27   -��#" �8"-�-��
�����#�-� 44.78 (������ 4.2)       


#ก��ก
����".�����.*$<#�,#)�
t ���.�09�<#� ��(#�;�.$+8
(.���[+��*�����
$�*�.$<*.  $�!
  .�$�
  #*
������<;�  (��G!� .-" -���<�9�)�ก-�!.������#�
,  /� �($A��.   -�
���.<�#"ก��##กA*$�
[
ก���!#�(-��(��#*
����,  $%&
<�
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(2) �!�$c-�����
�����.(����` (significant level) 
��ก 11 ����.*$<#�,  ���09�$�������`$+8
(.����*�����(���"
��
�������
������

�������ก
����� -��
�[+���
�����.(����`[
 ��(#�;�.  /
���
�����.(����`[

ก����ก	�
��  ก��+

[+�.��!�<��" <! 1-5  �
� ก! 

��
�����.(����` 1 +.��;�"  .����.(����`.�ก���(�
 
��
�����.(����` 2 +.��;�"  .����.(����`.�ก 
��
�����.(����` 3 +.��;�"  .����.(����`%�
ก-�" 
��
�����.(����` 4 +.��;�"  .����.(����`
�#� 
��
�����.(����` 5 +.��;�"  .����.(����`
�#����(�
 
 
��ก ��(#�;�.����.*$<#�,�������*�����[
����$�*�.%-9ก���!�  �!�$c-����#"

����.*$<#�,���.���
�����.(����` (significant level) .�ก���(�
�)#���.<�#"ก��##กA*$�
��"
���$�.�A��".��!�$�!�ก�� 2.327  (��G!�����)�.��!�$�!�ก�� 2.345  �
$<��-�
/<�$�
$�!�ก�� 2.459  
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 2.574   #./.$
��-�
/<�$�
$�!�ก�� 2.586  
���.$%&
ก�
-$�($�!�ก�� 2.600  �#" �8"-�-��
���$�!�ก�� 2.612  E#($E<-E#(E#��($�!�ก�� 
2.627  �#" �8" ��
-#�$�!�ก�� 2.654  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 2.667  
 -�ก��
���EEO�.��!�$c-�����
�����.(����`
�#����(�
$�!�ก�� 2.821   

 
(�$+<����09�$�������`[+����.(����`ก�����.<�#"ก��##กA*$�
��"���$�.�.�ก���(�


[
����$�*�.%-9ก  #��$
)�#".���ก����
��.�ก��$<���.
*
/
�[(!%�l�$�)�#$�*�.���.#�
.(.�9��,  
$.)�#.�ก��[(!
���-"[

�%�l�$+-!�
��
ก8��%�%
0(.#�9![

���#�����[+����.<�#"ก��##กA*$�
��"
���$�.�[

���(9"���
  �#"-".��)#(��G!�����)�A��"#��$%&
$����ก��$<���. %-"$�)�#%-9ก����<�#".�
ก��ก����
����)����"[

� -��
��

�  ���[+�$ก	<ก�<�#"[��(��G!�����)�.��!��[
���
<#

��  /
�
$.)�#.�ก��c�
�!
ก8#��$%&
(�$+<�[+�
���%
$%ku#
(��G!�����)�$+-!�
��
�
�  ��
�����.(����`#�

��
<!#.��)#�
$<��-�
/<�$�
  $.)�#$ก	<�ก�<�#"ก��[+�����.����.(.�9��, -� �8" �"��"<�#"[(!%�l�
/
�$c����
$<��-�
/<�$�
-"�%[

�  ��"���[+�(��$+-!�
��
<ก#�9![

� -�%
$%ku#

���[

�
����  (<���"��� 4.1)              
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<���"��� 4.1 
����.*$<#�,�������*�������ก ��(#�;�.���09�$�������` 

[+���
�����.(����`���"+.
 11 ����.*$<#�,  
[
����$�*�.%-9ก 

 
���
�
�
���[+� 

��
�����.(����` ����.*$<#�, 
1 2 3 4 5 

�!�$c-�����
��
���.(����` 

(significant level) 

���.<�#"ก��##กA*$�
��"���$�.�         13 16 22 3 1 2.327 
(��G!�����)� 15 14 20 4 2 2.345 
�
$<��-�
/<�$�
 12 17 26 4 2 2.459 
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   8 17 13 5 4 2.574 
 #./.$
��-�
/<�$�
   8 17 25 7 1 2.586 
���.$%&
ก�
-$�(   6 22 25 4 3 2.600 
�#" �8"-�-��
��� 6 10 30 3 0 2.612 
E#($E<-E#(E#��(   9 15 25 9 1 2.627 
�#" �8" ��
-#�   9 9 27 5 2 2.654 
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 9 13 15 7 4 2.667 
ก��
���EEO� 3 11 36 5 1 2.821 

 
���� <กก#  ���!��!�$c-����#"����.*$<#�,���.���
�����.(����` (significant level) 

.�ก���(�
�)# (��G!�����)�$�!�ก�� 2.273  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 2.275  
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 2.385  �
$<��-�
/<�$�
$�!�ก�� 2.410  ���.<�#"ก��
##กA*$�
��"���$�.�$�!�ก�� 2.483  E#($E<-E#(E#��($�!�ก�� 2.508    #./.$
��-�
/<�$�
$�!�ก�� 
2.509  ���.$%&
ก�
-$�($�!�ก�� 2.787  ก��
���EEO�$�!�ก�� 2.855    �#" �8"-�-��
���$�!�ก�� 2.881  
 -��#" �8" ��
-#�.���
�����.(����`
�#����(�
$�!�ก�� 2.940  09�$�������`[+����.(����̀ ก��(��
G!�����)�������#�.�ก���(�
  �#"-".��)#(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   -�(��
G!���<�9 -�(�<�,ก-�!.���,��$.<  (�$+<����.����.(����`.�ก#��$
)�#".���ก���� <กก#$%&
�������
����ก��-�"(���"-��<�
  $�)�#[+�����.�ก��$��* $̀<*�/<��� �8" �" -�(.�9��,$ก	<�ก���"<�#"ก����
��<�9
�#"<�
�������"�)� -�(�<�,�
*
<!�"t  /
�ก��[��(��G!���<�9�)� -�(�<�,[
 %-"
�  ������
���[

�
������"#��.�ก��$()�#./��.-"��ก#*�7*�-�#"(��$+-!�
��
���%
$%ku#
#�9![

���  (<���"��� 4.2) 
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<���"��� 4.2 
����.*$<#�,�������*�������ก ��(#�;�.���09�$�������` 

[+���
�����.(����`���"+.
 11 ����.*$<#�,  
[
���� <กก# 

 
���
�
�
���[+� 

��
�����.(����` ����.*$<#�, 
1 2 3 4 5 

�!�$c-�����
��
���.(����` 

(significant level) 

(��G!�����)� 11 15 14 3 1 2.273 
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   13 17 16 4 1 2.275 
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 12 17 16 5 2 2.385 
�
$<��-�
/<�$�
 12 18 26 4 1 2.410 
���.<�#"ก��##กA*$�
��"���$�.�         10 16 27 4 1 2.483 
E#($E<-E#(E#��(   10 15 29 4 1 2.508 
 #./.$
��-�
/<�$�
   8 20 22 6 1 2.509 
���.$%&
ก�
-$�(   3 16 34 7 1 2.787 
ก��
���EEO� 2 12 35 4 2 2.855 
�#" �8"-�-��
���   3 6 26 7 0 2.881 
�#" �8" ��
-#�   3 12 24 7 4 2.940 

 
����##ก��"  ���!��!�$c-����#"�
$<��-�
/<�$�
  .���
�����.(����` 

(significant level) .�ก���(�
$�!�ก�� 2.407 E#($E<-E#(E#��($�!�ก�� 2.456 ���.<�#"ก��
##กA*$�
��"���$�.�$�!�ก�� 2.463 (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 2.465  
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 2.540  #./.$
��-�
/<�$�
$�!�ก�� 2.545 (��  
G!�����)�$�!�ก�� 2.610 ���.$%&
ก�
-$�($�!�ก�� 2.692 �#" �8" ��
-#�$�!�ก�� 2.750        
ก��
���EEO�$�!�ก�� 2.923  -��#" �8"-�-��
���.���
�����.(����`
�#����(�
$�!�ก�� 2.925  A��"
����##ก��"$%&
�������(����`<�
�������$%&
<�#"[��(��#�+��$�)�#(���"$.-8
[+�$<8.��"   -�
(���"��"����[+�(.�9��,  ���$%&
<�#".�ก��[(!%�l�$����%�����"<�
$�*�.���
/
�$c����
/<�$�
 -�
E#($E<-E#(E#��(  A��"(#
�-�#"ก�����09�$�������`�
�[+���
�����.(����`  /
�-��
��<!#.��)#
���.<�#"ก��##กA*$�
��"���$�.�  ;��.�ก��[(!%�l�-"�%���
�
.�กก8��$ก*
ก��(�(.[

���A��"��"
#�9![
 %-"
����[+�%�*.�����.<�#"ก��##กA*$�
��"���$�.�(9"���

���  (<���"��� 4.3) 
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<���"��� 4.3 
����.*$<#�,�������*�������ก ��(#�;�.���09�$�������` 

[+���
�����.(����`���"+.
 11 ����.*$<#�,  
[
����##ก��" 

 
���
�
�
���[+� 

��
�����.(����` ����.*$<#�, 
1 2 3 4 5 

�!�$c-�����
��
���.(����` 

(significant level) 

�
$<��-�
/<�$�
 13 14 28 3 1 2.407 
E#($E<-E#(E#��(   12 12 30 1 2 2.456 
���.<�#"ก��##กA*$�
��"���$�.�         14 10 22 7 1 2.463 
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   8 18 16 6 1 2.469 
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 9 17 14 8 2 2.540 
 #./.$
��-�
/<�$�
   8 15 27 4 1 2.545 
(��G!�����)� 6 11 18 5 1 2.610 
���.$%&
ก�
-$�(   7 12 25 6 2 2.692 
�#" �8" ��
-#�   4 13 19 6 2 2.750 
ก��
���EEO� 4 10 28 6 4 2.923 
�#" �8"-�-��
���   2 8 21 9 0 2.925 

 
����$ก8�$ก����  ���!��!�$c-����#"����.*$<#�,���.���
�����.(����` (significant 

level) .�ก���(�
 �)# (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 2.343  (��G!�����)�$�!�ก�� 
2.355  ���.<�#"ก��##กA*$�
��"���$�.�$�!�ก�� 2.356  �
$<��-�
/<�$�
$�!�ก�� 2.372  
E#($E<-E#(E#��($�!�ก�� 2.463  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 2.472  
���.$%&
ก�
-$�($�!�ก�� 2.512   #./.$
��-�
/<�$�
$�!�ก�� 2.537  �#" �8"-�-��
���$�!�ก�� 
2.600  �#" �8" ��
-#�$�!�ก�� 2.615   -�ก��
���EEO�.���
�����.(����`
�#����(�
$�!�ก�� 
2.875  ����$ก8�$ก����$%&
�����������(�ก ก!$<8.���  $ก	<�ก���"<�#"ก����
����)� -� .-"<!�"t ���
��ก!#[+�$ก*
���.$(��+��<!#�������ก��-�"��$ก8�$ก����/
�ก��[��(��G!���<�9�)� -�(�<�,  A��"
09�$�������`ก8�
�[+���
�����.(����`�#"(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< -�(��G!�����)�
���$%&
#�

��<�
t $�!
$
���ก�
  (<���"��� 4.4) 
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<���"��� 4.4 
����.*$<#�,�������*�������ก ��(#�;�.���09�$�������` 

[+���
�����.(����`���"+.
 11 ����.*$<#�,  
[
����$ก8�$ก���� 

 
���
�
�
���[+� 

��
�����.(����` ����.*$<#�, 
1 2 3 4 5 

�!�$c-�����
��
���.(����` 

(significant level) 

(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 12 6 12 3 2 2.343 
(��G!�����)� 7 10 11 2 1 2.355 
���.<�#"ก��##กA*$�
��"���$�.� 17 7 12 6 3 2.356 
�
$<��-�
/<�$�
 15 7 14 4 3 2.372 
E#($E<-E#(E#��( 12 8 14 4 3 2.463 
(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 9 8 13 5 1 2.472 
���.$%&
ก�
-$�( 10 10 16 5 2 2.512 
 #./.$
��-�
/<�$�
 12 7 13 6 3 2.537 
�#" �8"-�-��
��� 6 6 12 6 0 2.600 
�#" �8" ��
-#� 11 5 14 6 3 2.615 
ก��
���EEO� 7 6 17 5 5 2.875 

 
(3) 
���+
�ก���.(����` (temporary weight) �#" <!-�����.*$<#�, 
���
���
���กก��
���!�$c-�����
�����.(����` (significant) ���.����.(����`.�ก

���(�
+��
����!�$c-�����
�����.(����` (significant) �#" <!-�����.*$<#�,   
����$�*�.%-9ก  $.)�#�*���������.*$<#�,���.����.(����`(9"(�
��
�� 1 (��ก<���"��� 

4.1) ���!����.<�#"ก��##กA*$�
��"���$�.�  .��!�$c-�����
�����.(����` (significant level) 
.�ก���(�
$�!�ก�� 2.327 +��
����!�$c-�����
�����.(����`�#"<��$#"A��".��!�$�!�ก�� 2.327  ��".�
�!�
���+
�ก��
�����.(����` (temporary weight) $�!�ก�� 1.000  ��ก
��
+��!�
���+
�ก��
��
���.(����`��ก����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!(��G!�����)�  /
�
��
�!�$c-�����
�����.(����`.�ก���(�
A��"$�!�ก�� 2.327 +��
����!�$c-�����
�����.(����`�#"(��
G!�����)�  �)# 2.345 ���
��!�
���+
�ก��
�����.(����`$�!�ก�� 0.992  �!�
���+
�ก��
��
���.(����`�#"����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!  �
$<��-�
/<�$�




61 

 

$�!�ก�� 0.946  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 0.904   #./.$
��-
�
/<�$�
$�!�ก�� 0.900  ���.$%&
ก�
-$�($�!�ก�� 0.895  �#" �8"-�-��
���$�!�ก�� 0.891  
E#($E<-E#(E#��($�!�ก�� 0.886  �#" �8" ��
-#�$�!�ก�� 0.877  (��G!���<�9�)� -�(�<�,ก-�!.
���,��$.<$�!�ก�� 0.873  -�ก��
���EEO�$�!�ก�� 0.825 <�.-��
�� (<���"��� 4.5) 

���� <กก#  $.)�#�*���������.*$<#�,���.����.(����`(9"(�
��
�� 1 (��ก<���"��� 
4.2) ���!�(��G!�����)�  .��!�$c-�����
�����.(����` (significant level) .�ก���(�
$�!�ก�� 2.273  
+��
����!�$c-�����
�����.(����`�#"<��$#"A��".��!�$�!�ก�� 2.273  A��".��!�
���+
�ก��
��
���.(����` (temporary weight) $�!�ก�� 1.000  ��ก
��
+��!�
���+
�ก��
�����.(����`��ก
����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/

E#($E<  /
�
���!�$c-�����
�����.(����`.�ก���(�
A��"$�!�ก�� 2.273 +��
����!�$c-�����
��
���.(����`�#"(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<  �)# 2.275 ���
��!�
���+
�ก��
��
���.(����`$�!�ก�� 0.999  +��!�
���+
�ก��
�����.(����`�#"����.*$<#�,���.��!�$c-�����
��
���.(����`�#"-".�  �
� ก!  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 0.953  �
$<��-
�
/<�$�
$�!�ก�� 0.943  ���.<�#"ก��##กA*$�
��"���$�.�$�!�ก�� 0.915  E#($E<-E#(E#��(
$�!�ก�� 0.906   #./.$
��-�
/<�$�
$�!�ก�� 0.906  ���.$%&
ก�
-$�($�!�ก�� 0.816  ก��
��    
�EEO�$�!�ก�� 0.796  �#" �8"-�-��
���$�!�ก�� 0.789   -��#" �8" ��
-#�$�!�ก�� 0.773 
<�.-��
�� (<���"��� 4.6) 

����##ก��"  $.)�#�*���������.*$<#�,���.����.(����`(9"(�
��
�� 1 (��ก<���"��� 
4.3) ���!��
$<��-�
/<�$�
  .��!�$c-�����
�����.(����` (significant level) .�ก���(�
$�!�ก�� 
2.407  +��
����!�$c-�����
�����.(����`�#"<��$#"A��".��!�$�!�ก�� 2.407 A��".��!�
���+
�ก��
��
���.(����` (temporary weight) $�!�ก�� 1.000  ��ก
��
+��!�
���+
�ก��
�����.(����`��ก
����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!E#($E<-E#(E#��(  /
�
���!�$c-���
��
�����.(����`.�ก���(�
A��"$�!�ก�� 2.407 +��
����!�$c-�����
�����.(����`�#"E#($E<-
E#(E#��(  �)# 2.456 ���
��!�
���+
�ก��
�����.(����`$�!�ก�� 0.980  �!�
���+
�ก��
��
���.(����`�#"����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!  ���.<�#"ก��
##กA*$�
��"���$�.�$�!�ก�� 0.977  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 0.975  
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 0.948   #./.$
��-�
/<�$�
$�!�ก�� 0.946  (��
G!�����)�$�!�ก�� 0.922  ���.$%&
ก�
-$�($�!�ก�� 0.894  �#" �8" ��
-#�$�!�ก�� 0.875  ก��

���EEO�$�!�ก�� 0.823   -��#" �8"-�-��
���$�!�ก�� 0.823 <�.-��
�� (<���"��� 4.7)  



62 

 

����$ก8�$ก����  $.)�#�*���������.*$<#�,���.����.(����`(9"(�
��
�� 1 (��ก<���"��� 
4.4) ���!�(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<.��!�$c-�����
�����.(����` (significant level) 
.�ก���(�
$�!�ก�� 2.343  +��
����!�$c-�����
�����.(����`�#"<��$#"A��".��!�$�!�ก�� 2.343  A��".�
�!�
���+
�ก��
�����.(����` (temporary weight) $�!�ก�� 1.000  ��ก
��
+��!�
���+
�ก��
��
���.(����`��ก����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!(��G!�����)�  /
�
��
�!�$c-�����
�����.(����`.�ก���(�
A��"$�!�ก�� 2.343 +��
����!�$c-�����
�����.(����`�#"(��
G!�����)��)# 2.355 ���
��!�
���+
�ก��
�����.(����`$�!�ก�� 0.995  �!�
���+
�ก��
�����.(����̀
�#"����.*$<#�,���.��!�$c-�����
�����.(����`�#"-".�  �
� ก!  ���.<�#"ก��##กA*$�
��"
���$�.�$�!�ก�� 0.995  �
$<��-�
/<�$�
$�!�ก�� 0.988  E#($E<-E#(E#��($�!�ก�� 0.951  (��
G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 0.948  ���.$%&
ก�
-$�($�!�ก�� 0.933  
 #./.$
��-�
/<�$�
$�!�ก�� 0.924  �#" �8"-�-��
���$�!�ก�� 0.901  �#" �8" ��
-#�$�!�ก�� 
0.896   -�ก��
���EEO�$�!�ก�� 0.815 <�.-��
�� (<���"��� 4.8)  

 
(4) 
��
�
���+
�ก�!#� (sub-index weight) �#" <!-�����.*$<#�, 
�!�
��
�
���+
�ก�!#� (sub-index weight) ���
��/
�
���!�$c-���
���+
�ก��
��

���.(����` (temporary weight) �#" <!-�����.*$<#�,+��
���0-��.�#"�!�$c-���
���+
�ก
��
�����.(����`���"+.
   

����$�*�.%-9ก  $.)�#���.<�#"ก��##กA*$�
��"���$�.�.��!�
���+
�ก��
�����.(����̀  
(temporary weight) $�!�ก�� 1.000  +��
���0-��.�#"�!�
���+
�ก��
�����.(����` 
(temporary weight) ���"+.
A��".��!�$�!�ก�� 9.989  �!�
��
�
���+
�ก�!#� (sub-index weight) �#"
���.<�#"ก��##กA*$�
��"���$�.���".��!�$�!�ก�� 0.100  �!�
��
�
���+
�ก�!#���ก����.*$<#�,
-��
��<!#�%�
� ก!  (��G!�����)�$�!�ก�� 0.099  �
$<��-�
/<�$�
$�!�ก�� 0.095  (��G!���<�9�)�
 -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 0.090   #./.$
��-�
/<�$�
$�!�ก�� 0.090  ���.$%&

ก�
-$�($�!�ก�� 0.090  �#" �8"-�-��
���$�!�ก�� 0.089  E#($E<-E#(E#��($�!�ก�� 0.089  
�#" �8" ��
-#�$�!�ก�� 0.088  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 0.087   -�ก��

�� �EEO�$�!�ก�� 0.083 <�.-��
�� (<���"��� 4.5) 
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<���"��� 4.5 

���+
�ก��
�����.(����` -�
��
�
���+
�ก�!#� 
�#"����.*$<#�,�������*����[
����$�*�.%-9ก 

 

����.*$<#�, 
�!�$c-��� 

��
�����.(����` 

���+
�ก��
��
���.(����`  


��
�
���+
�ก�!#� 

���.<�#"ก��##กA*$�
��"���$�.�         2.327 1.000 0.100 

(��G!�����)� 2.345 0.992 0.099 

�
$<��-�
/<�$�
 2.459 0.946 0.095 

(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   2.574 0.904 0.090 

 #./.$
��-�
/<�$�
   2.586 0.900 0.090 

���.$%&
ก�
-$�(   2.600 0.895 0.090 

�#" �8"-�-��
���   2.612 0.891 0.089 

E#($E<-E#(E#��( 2.627 0.886 0.089 

�#" �8" ��
-#�   2.654 0.877 0.088 

(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 2.667 0.873 0.087 

ก��
���EEO� 2.821 0.825 0.083 

��. 9.989 1.000 

 
���� <กก#  (��G!�����)�.��!�
���+
�ก��
�����.(����` (temporary weight)  

$�!�ก�� 1.000  +��
���0-��.�#"�!�
���+
�ก��
�����.(����` (temporary weight) ���"+.
A��".�
�!�$�!�ก�� 9.796 �!�
��
�
���+
�ก�!#� (sub-index weight) �#"(��G!�����)���".��!�$�!�ก�� 0.102  
�!�
��
�
���+
�ก�!#���ก����.*$<#�,-��
��<!#�%�
� ก!  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/

E#($E<$�!�ก�� 0.102  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 0.097  �
$<��-�
/<�$�

$�!�ก�� 0.096  ���.<�#"ก��##กA*$�
��"���$�.�$�!�ก�� 0.093  E#($E<-E#(E#��($�!�ก�� 
0.092   #./.$
��-�
/<�$�
$�!�ก�� 0.092  ���.$%&
ก�
-$�($�!�ก�� 0.083  ก��
���EEO�     
$�!�ก�� 0.081  �#" �8"-�-��
���$�!�ก�� 0.081   -��#" �8" ��
-#�$�!�ก�� 0.079 <�.-��
�� 
(<���"��� 4.6) 
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<���"��� 4.6 

���+
�ก��
�����.(����` -�
��
�
���+
�ก�!#� 
�#"����.*$<#�,�������*�����[
���� <กก# 

 

����.*$<#�, 
�!�$c-��� 

��
�����.(����` 

���+
�ก��
��
���.(����`  


��
�
���+
�ก�!#� 

(��G!�����)� 2.273 1.000 0.102 

(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 2.275 0.999 0.102 

(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 2.385 0.953 0.097 

�
$<��-�
/<�$�
 2.410 0.943 0.096 

���.<�#"ก��##กA*$�
��"���$�.� 2.483 0.915 0.093 

E#($E<-E#(E#��( 2.508 0.906 0.092 

 #./.$
��-�
/<�$�
 2.509 0.906 0.092 

���.$%&
ก�
-$�( 2.787 0.816 0.083 
ก��
���EEO� 2.855 0.796 0.081 

�#" �8"-�-��
��� 2.881 0.789 0.081 

�#" �8" ��
-#� 2.940 0.773 0.079 

��. 9.796 1.000 

 
����##ก��"  �
$<��-�
/<�$�
.��!�
���+
�ก��
�����.(����` (temporary 

weight) $�!�ก�� 1.000 +��
���0-��.�#"�!�
���+
�ก��
�����.(����` (temporary weight) 
���"+.
A��".��!�$�!�ก�� 10.162 �!�
��
�
���+
�ก�!#� (sub-index weight) �#"�
$<��-�
/<�$�
��"
.��!�$�!�ก�� 0.098 �!�
��
�
���+
�ก�!#���ก����.*$<#�,-��
��<!#�%�
� ก!  E#($E<-E#(E#��(
$�!�ก�� 0.096  ���.<�#"ก��##กA*$�
��"���$�.�$�!�ก�� 0.096  (��G!���<�9�)� -�(�<�,ก-�!.##�,
ก�/
E#($E<$�!�ก�� 0.096  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 0.093   #./.$
��-
�
/<�$�
$�!�ก�� 0.093  (��G!�����)�$�!�ก�� 0.091  ���.$%&
ก�
-$�($�!�ก�� 0.088  �#" �8"
 ��
-#�$�!�ก�� 0.086  ก��
���EEO�$�!�ก��0.081   -��#" �8"-�-��
���$�!�ก�� 0.081 
<�.-��
�� (<���"��� 4.7) 
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<���"��� 4.7 

���+
�ก��
�����.(����` -�
��
�
���+
�ก�!#� 
�#"����.*$<#�,�������*�����[
����##ก��" 

 

����.*$<#�, 
�!�$c-��� 

��
�����.(����` 

���+
�ก��
��
���.(����`  


��
�
���+
�ก�!#� 

�
$<��-�
/<�$�
 2.407 1.000 0.098 

E#($E<-E#(E#��( 2.456 0.980 0.096 

���.<�#"ก��##กA*$�
��"���$�.� 2.463 0.977 0.096 

(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 2.469 0.975 0.096 

(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 2.540 0.948 0.093 

 #./.$
��-�
/<�$�
 2.545 0.946 0.093 

(��G!�����)� 2.610 0.922 0.091 

���.$%&
ก�
-$�( 2.692 0.894 0.088 

�#" �8" ��
-#� 2.750 0.875 0.086 

ก��
���EEO� 2.923 0.823 0.081 

�#" �8"-�-��
��� 2.925 0.823 0.081 

��. 10.162 1.000 

 
����$ก8�$ก����  (��G!���<�9�)� -�(�<�,ก-�!.���,��$.<.��!�
���+
�ก��
��

���.(����` (temporary weight) $�!�ก�� 1.000 +��
���0-��.�#"�!�
���+
�ก��
�����.(����̀  
(temporary weight) ���"+.
A��".��!�$�!�ก�� 10.344 �!�
��
�
���+
�ก�!#� (sub-index weight)  
�#"(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<��".��!�$�!�ก�� 0.097 �!�
��
�
���+
�ก�!#���ก
����.*$<#�,-��
��<!#�%�
� ก!  (��G!�����)�$�!�ก�� 0.096  ���.<�#"ก��##กA*$�
��"���$�.�
$�!�ก�� 0.096  �
$<��-�
/<�$�
$�!�ก�� 0.095  E#($E<-E#(E#��($�!�ก�� 0.092  (��G!�
��<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 0.092  ���.$%&
ก�
-$�($�!�ก�� 0.090  
 #./.$
��-�
/<�$�
$�!�ก�� 0.089  �#" �8"-�-��
���$�!�ก�� 0.087  �#" �8" ��
-#�$�!�ก�� 
0.087   -�ก��
���EEO�$�!�ก�� 0.079  <�.-��
�� (<���"��� 4.8) 
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<���"��� 4.8 

���+
�ก��
�����.(����` -�
��
�
���+
�ก�!#� 
�#"����.*$<#�,�������*�����[
����$ก8�$ก���� 

 

����.*$<#�, 
�!�$c-��� 

��
�����.(����` 

���+
�ก��
��
���.(����`  


��
�
���+
�ก�!#� 

(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 2.343 1.000 0.097 

(��G!�����)� 2.355 0.995 0.096 

���.<�#"ก��##กA*$�
��"���$�.�         2.356 0.995 0.096 

�
$<��-�
/<�$�
 2.372 0.988 0.095 

E#($E<-E#(E#��(   2.463 0.951 0.092 

(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   2.472 0.948 0.092 

���.$%&
ก�
-$�(   2.512 0.933 0.090 

 #./.$
��-�
/<�$�
   2.537 0.924 0.089 

�#" �8"-�-��
���   2.600 0.901 0.087 

�#" �8" ��
-#�   2.615 0.896 0.087 

ก��
���EEO� 2.875 0.815 0.079 

��. 10.344 1.000 

 
	���>
���� 2 �� ����"���
ก'#ก
� �@���L
�	
�">L���
�
#��>
�� (I)  

 

��
���� 

��ก(.ก��
��
��!#��#" <!-�����.*$<#�, (I) ��ก ��(#�;�.     
(!�
��� 2  (���0
�ก �) /
�.����
<#
ก��+�
�"
�� 

 
(1) ��
���� 

���.$+.��(.�#" <!-�����.*$<#�, 
/
�09�$�������`
������.*$<#�,������
��.��*�����.�[+���
���� 

#�ก����"  A��"[+�

��
�����.(����`[
$�*"%�*.�� (Quantitative) �� (
"#�9![
�9%�#"�� 

<��" <! 1-5            
[
ก����ก	�
��ก��+

[+�.��!�<��" <! 1-5  �
� ก! 
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��
���� 

��� 1 +.��;�"  $+.��(.#�!�"�*�" 
��
���� 

��� 2 +.��;�"  $+.��(. 
��
���� 

��� 3 +.��;�"  �#[�� 
��
���� 

��� 4 +.��;�"  �.!$+.��(. 
��
���� 

��� 5 +.��;�"  �.!$+.��(.#�!�"�*�" 
 
��
#�$%�ก� -��' (pH) 
�
� �!"�!�"%�*.���#"���.$%&
ก�
-$�(##ก$%&
 5 �!�" �)# 1) 6.5-8.5  2)5.5-6.4  

 -� 8.6-9.5  3) 4.5-5.4  -� 9.6-10.5  4)3.5-4.4  -� 10.6-11.5   -� 5) 
�#�ก�!� 3.4  -�
.�กก�!� 11.6  .��!�$c-�����
���� 

���.$+.��(. (1-5)  $�!�ก�� 4.86  3.92  3.02  2.06  -� 
1.23 <�.-��
��  
�"<���"��� 4.9   

ก
���
,--.
 (conductivity) 
�
� �!"�!�"%�*.���#"ก��
���EEO�##ก$%&
 5 �!�" �
� ก! 1) 
�#�ก�!� 1000           

2) 1001-1500  3) 1501-2000  4) 2001-2500   -� 5) .�กก�!� 2501 �./��A�$.
<,<!#
$A
<*$.<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.78  3.73  2.63  2.08  -� 
1.39 <�.-��
��  
�"<���"��� 4.10 

��
#>!
�ก
�

ก?�����
�@����#� (BOD) 
 �!"�!�"%�*.���#"���.<�#"ก��##กA*$�
��"���$�.�##ก$%&
 5 �!�" �
� ก!         

1) 
�#�ก�!� 1  2) 1.1-2.5  3) 2.6-4.0  4) 4.1-5.0   -� 5) .�กก�!� 5.1 .*--*ก��.<!#-*<�            
.��!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.88  3.75  2.80  2.22  -� 1.13 
<�.-��
��  
�"<���"��� 4.11 

	
�"	H����
����
 (TDS) 
  �!"�!�"%�*.���#" �8"-�-��
���  ##ก$%&
 5 �!�" 1) 
�#�ก�!�500  2) 501-1000  

3) 1001-1500  4) 1501-2000   -� 5) .�กก�!� 2000 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 


���.$+.��(. (1-5)  $�!�ก�� 4.91  3.66  2.43  2.03  -� 1.72 <�.-��
��  
�"<���"��� 4.12  

	
�"	H�"	���
� (SS) 
 �!"�!�"%�*.���#" �8" ��
-#�  ##ก$%&
 5 �!�" 1) 
�#�ก�!� 10  2) 11-20       

3) 21-30  4) 31-40   -� 5) .�กก�!� 41 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.
$+.��(. (1-5) $�!�ก�� 4.83  3.74  2.69  2.13  -� 1.42 <�.-��
��  
�"<���"��� 4.13 
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-
'�->--
'-
��' (PO4
3--N) 

 �!"�!�"%�*.���#"E#($E<-E#(E#��(   ##ก$%&
 5 �!�" 1) 
�#�ก�!� 0.20           
2) 0.21-0.40  3) 0.41-0.60  4) 0.61-0.80   -� 5) .�กก�!� 0.81 .*--*ก��.<!#-*<�  .��!�$c-���
��
���� 

���.$+.��(. (1-5) $�!�ก�� 4.77  3.62  2.42  2.02  -� 1.62 <�.-��
��          

�"<���"��� 4.14 

,��>��-,�D>���� (NO3
--N) 

 �!"�!�"%�*.���#"�
$<��-�
/<�$�
  ##ก$%&
 5 �!�" 1) 
�#�ก�!� 1.0  2) 1.1-3.0  
3) 3.1-6.0  4) 6.1-9.0   -� 5) .�กก�!� 9.1 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.
$+.��(. (1-5) $�!�ก�� 4.80  3.81  2.73  1.94  -� 1.10 <�.-��
��  
�"<���"��� 4.15     

"
#D#����-,�D>���� (NH3
 -N) 

 �!"�!�"%�*.���#" #./.$
��-�
/<�$�
  ##ก$%&
 5 �!�" 1) 
�#�ก�!� 0.20         
2) 0.21-0.40  3) 0.41-0.60  4) 0.61-0.80   -� 5) .�กก�!� 0.81 .*--*ก��.<!#-*<�  .��!�$c-���
��
���� 

���.$+.��(. (1-5) $�!�ก�� 4.78  3.71  2.62  1.95  -� 1.31 <�.-��
��          

�"<���"��� 4.16   

'
�KL
��@�M@�
�
��
� (herbicides) 
 �!"�!�"%�*.���#"(��G!�����)�##ก$%&
 5 �!�" 1) 
�#�ก�!� 0.20  2) 0.21-0.40  

3) 0.41-0.60  4) 0.61-0.80   -� 5) .�กก�!� 0.81 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 


���.$+.��(. (1-5) $�!�ก�� 1.80  2.25  2.57  3.61  -� 4.66 <�.-��
��  
�"<���"��� 4.17 

'
�KL
P�>�8�M@"��'�>��ก��L#

��ก
D�-
'�-> (organophosphate pesticides) 
 �!"�!�"%�*.���#"(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<##ก$%&
  5 �!�" 

1) 
�#�ก�!� 0.09  2) 0.10-0.19  3) 0.20-0.29  4) 0.30-0.39   -� 5) .�กก�!� 0.40 .*--*ก��. 
<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5)  $�!�ก�� 1.92  2.03  2.80  3.77  -� 4.72 
<�.-��
��  
�"<���"��� 4.18 

'
�KL
P�>�8�M@"��'�>��ก��L#�
���
�#> (carbamate pesticides) 
 �!"�!�"%�*.���#"(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<##ก$%&
  5 �!�"           

1) 
�#�ก�!� 0.004  2) 0.005-0.009  3) 0.010-0.014  4) 0.015-0.019   -� 5) .�กก�!� 0.020 
.*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5)  $�!�ก�� 1.40  1.97  2.89  3.92  
 -� 4.86  <�.-��
��  
�"<���"��� 4.19 
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100×







4
1-x

(2) %����!�"��
���� 

���.$+.��(. 

����#.9-.�%����!�"�� 

���.$+.��(.��ก�!�$c-�����
���� 

���.

$+.��(. 1-5 $%&
��
���� 

���.$+.��(.���%��� -�� 0-100 /
�(.ก����� 4.1  
  
 ��
���� 

���.$+.��(.���%��� -�� (0 w 100) =                                      (4.1) 
   

 $.)�# X   �)#    �!�$c-�����
���� 

���.$+.��(. (1-5) 
 
��
#�$%�ก� -��' (pH) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.86  3.92  3.02  2.06  -� 

1.23 <�.-��
��   -���
���� 

���.$+.��(.���%���$%&
 0 ;�"100 $�!�ก�� 96.43  73.02  
50.40  26.59   -� 5.86 <�.-��
�� 
�"<���"��� 4.9 

 
<���"��� 4.9 

��
���� 

���.$+.��(.���.$%&
ก�
-$�(  
(�.�.2552) 

 
�!�"%�*.�� 

���.$%&
ก�
-$�( 
�!�$c-�����
���� 

���.

$+.��(. (1-5) 
��
���� 

���.$+.��(.    

���%��� (0-100) 
6.5-8.5 4.86 96.43 

5.5-6.4;8.6-9.5 3.92 73.02 
4.5-5.4;9.6-10.5 3.02 50.40 
3.5-4.4;10.6-11.5 2.06 26.59 

<3.4;>11.6 1.23 5.86 
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ก
���
,--.
 (conductivity) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.78  3.73  2.63  2.08  -� 

1.39 <�.-��
��   -���
���� 

���%���$%&
 0 ;�"100 $�!�ก�� 94.44  68.25  40.87  27.02   -� 
9.68 <�.-��
��  
�"<���"��� 4.10 

 
<���"��� 4.10  

��
���� 

���.$+.��(.ก��
���EEO�  
(�.�. 2552) 

 
�!�"%�*.��ก��
���EEO� 

(�./��A�$.
<,<!#$A
<*$.<�) 
�!�$c-�����
���� 

���.

$+.��(. (1-5) 
��
���� 

���.$+.��(.    ���

%��� (0-100) 
<1000 4.78 94.44 

1001-1500 3.73 68.25 
1501-2000 2.63 40.87 
2001-2500 2.08 27.02 
>2501 1.39 9.68 

 
���.<�#"ก��##กA*$�
��"���$�.� (BOD) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.88  3.75  2.80  2.22  -� 

1.13 <�.-��
��   -���
���� 

���%���$%&
 0 ;�"100 $�!�ก�� 97.08  68.65  45.08  30.42   -� 
3.33 <�.-��
��  
�"<���"��� 4.11 

 
 
 
 
 
 
 
 
 
 



71 

 

<���"��� 4.11 
��
���� 

���.$+.��(.���.<�#"ก��##กA*$�
��"���$�.�  

(�.�. 2552) 
 

�!�"%�*.�� 
���.<�#"ก��##กA*$�
��"���$�.� 

(.*--*ก��.<!#-*<�) 

�!�$c-�����
���� 

���.
$+.��(. (1-5) 

��
���� 

���.$+.��(.    
���%��� (0-100) 

< 1 4.88 97.08 
1 - 2.5 3.75 68.85 
2.6 - 4.0 2.80 45.08 
4.1-5.0 2.22 30.42 
> 5.1 1.13 3.33 

 
	
�"	H����
����
 (TDS) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.91  3.66  2.43  2.03  -� 

1.72 <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก�� 
97.66  66.54  35.77  25.78   -� 17.97  <�.-��
�� (<���"��� 4.12) 

 
<���"��� 4.12 

��
���� 

���.$+.��(.�#" �8"-�-��
��� 
(�.�. 2552) 

 
�!�"%�*.���#" �8"-�-��
��� 

(.*--*ก��.<!#-*<�) 
�!�$c-�����
���� 

���.

$+.��(. (1-5) 
��
���� 

���.$+.��(.    

���%��� (0-100) 
<500 4.91 97.66 

501-1000 3.66 66.54 
1001-1500 2.43 35.77 
1501-2000 2.03 25.78 
>2001 1.72 17.97 
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�"	H�"	���
� (SS) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.83  3.74  2.69  2.13  -� 

1.42 <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
95.77  68.46  42.19  28.13  -� 10.55  <�.-��
�� (<���"��� 4.13) 

 
<���"��� 4.13 

��
���� 

���.$+.��(.�#" �8" ��
-#� 
(�.�. 2552) 

 
�!�"%�*.���#" �8" ��
-#� 

(.*--*ก��.<!#-*<�) 
�!�$c-�����
���� 

���.

$+.��(. (1-5) 
��
���� 

���.$+.��(.    

���%��� (0-100) 
<10 4.83 95.77 
11-20 3.74 68.46 
21-30 2.69 42.19 
31-40 2.13 28.13 
>41 1.42 10.55 

 
-
'�->--
'-
��' (PO4

3--P) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.77  3.62  2.42  2.02  -� 

1.62 <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
94.32  65.53  35.38  25.38   -� 15.38  <�.-��
�� (<���"��� 4.14) 
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<���"��� 4.14  
��
���� 

���.$+.��(.E#($E<-E#(E#��( 

(�.�. 2552) 
 

�!�"%�*.��E#($E<-E#(E#��( 
(.*--*ก��.<!#-*<�) 

�!�$c-�����
���� 


���.$+.��(. (1-5) 

��
���� 

���.$+.��(.    
���%��� (0-100) 

<0.20 4.77 94.32 
0.20-0.40 3.62 65.53 
0.41-0.60 2.42 35.38 
0.61-0.80 2.02 25.38 
>0.81 1.62 15.38 

 
,��>��-,�D>���� (NO3

--N) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.80  3.81  2.73  1.94  -� 

1.10 <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
94.92  70.31  43.36  23.41   -� 2.38  <�.-��
�� (<���"��� 4.15)  

 
<���"��� 4.15  

��
���� 

���.$+.��(.�
$<��-�
/<�$�
 
(�.�. 2552) 

 
�!�"%�*.���
$<��-�
/<�$�
 

(.*--*ก��.<!#-*<�) 
�!�$c-�����
���� 

���.

$+.��(. (1-5) 
��
���� 

���.$+.��(.    

���%��� (0-100) 
< 1.0 4.80 94.92 

1.1 - 3.0 3.81 70.31 
3.1 - 6.0 2.73 43.36 
6.1 - 9.0 1.94 23.41 
>9.1 1.10 2.38 
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"
#D#����-,�D>���� (NH3
 -N) 

�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก�� 4.78  3.71  2.62  1.95  -� 
1.31 <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
94.44  67.86  40.48  23.79   -� 7.66  <�.-��
�� (<���"��� 4.16) 

 
<���"��� 4.16 

��
���� 

���.$+.��(. #./.$
��-�
/<�$�
  
(�.�. 2552) 

 
�!�"%�*.�� #./.$
��-�
/<�$�
 

(.*--*ก��.<!#-*<�) 
�!�$c-�����
���� 


���.$+.��(. (1-5) 

��
���� 

���.$+.��(.    
���%��� (0-100) 

<0.20 4.78 94.44 
0.21-0.40 3.71 67.86 
0.41-0.60 2.62 40.48 
0.61-0.80 1.95 23.79 
>0.81 1.31 7.66 

 
'
�KL
��@�M@�
�
��
� (herbicides) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก��  4.66  3.61  2.57  2.55   -�  

1.80  <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
91.39  65.16  39.34  31.25   -� 20.00  <�.-��
�� (<���"��� 4.17) 
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<���"��� 4.17 
��
���� 

���.$+.��(.(��G!�����)�������#�  

(�.�. 2552) 
 

�!�"%�*.��(��G!�����)�  
(.*--*ก��.<!#-*<�) 

�!�$c-�����
���� 


���.$+.��(. (1-5) 

��
���� 

���.$+.��(.    
���%��� (0-100) 

< 0.20 4.66 91.39 
0.21-0.40 3.61 65.16 
0.41-0.60 2.57 39.34 
0.61-0.80 2.55 31.25 
> 0.81 1.80 20.00 

 
'
�KL
P�>�8�M@"��'�>��ก��L#

��ก
D�-
'�-> (organophosphate pesticides) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก��   4.72  3.77  2.80  2.03  -� 

1.92  <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
93.03  69.26  45.08  25.83   -� 22.92  <�.-��
�� (<���"��� 4.18) 

 
<���"��� 4.18 

��
���� 

���.$+.��(.(��G!���<�9�)� -�(�<�, 
ก-�!.##�,ก�/
E#($E< (�.�. 2552) 

 
�!�"%�*.��(��G!���<�9�)� -�(�<�,

ก-�!.##�,ก�/
E#($E< 
(.*--*ก��.<!#-*<�) 

�!�$c-�����
���� 


���.$+.��(. (1-5) 

��
���� 

���.$+.��(.    
���%��� (0-100) 

< 0.09 4.72 93.03 
0.10-0.19 3.77 69.26 
0.20-0.29 2.80 45.08 
0.30-0.39 2.03 25.83 
> 0.40 1.92 22.92 

 



76 

 

'
�KL
P�>�8�M@"��'�>��ก��L#�
���
�#> (carbamate pesticides) 
�!�$c-�����
���� 

���.$+.��(. (1-5) $�!�ก��  4.86  3.92  2.89  1.97   -�

1.40  <�.-��
��   -���
���� 

��ก ��(#�;�.$.)�#%����� 

<��" <! 0 ;�" 100 $�!�ก��  
96.43  72.98  47.18  24.19   -� 10.08  <�.-��
�� (<���"��� 4.19) 

 
<���"��� 4.19 

��
���� 

���.$+.��(.(��G!���<�9�)� -�(�<�, 
ก-�!.���,��$.< (�.�. 2552) 

 
�!�"%�*.��(��G!���<�9�)� -�(�<�,    

ก-�!.���,��$.< 
(.*--*ก��.<!#-*<�) 

�!�$c-�����
���� 


���.$+.��(. (1-5) 

��
���� 

���.$+.��(.    
���%��� (0-100) 

< 0.004 4.86 96.43 
0.005-0.009 3.92 72.98 
0.010-0.014 2.89 47.18 
0.015-0.019 1.97 24.19 
> 0.020 1.40 10.08 

 
(3) $(�
��
���� 

���.$+.��(.������
��� (rating curve) �#" <!-�

����.*$<#�, 
 
��
#�$%�ก� -��' (pH) 
��ก<���"��� 4.9  ���!�[
�!�"%�*.�����.$%&
ก�
-$�( 6.5-8.5 .��!�$c-�����
��

�� 

���.$+.��(. (1-5)  (9"���(�
$�!�ก��  4.86  /
���
���� 

���.$+.��(.���%���     
(0-100) $�!�ก�� 96.43  -�ก	��ก��E$%&
��"��G�"�����$.)�#�!�"%�*.���#"���.$%&
ก�
-$�(
$�*�.���
  ��
���� 

���.$+.��(.��$�*�.���

���  �
ก�����"���.$%&
ก�
-$�($�!�ก�� 7.6 
��
���� 

���.$+.��(.���!#�t -
-"#�!�"<!#$
)�#" (������ 4.3)  
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������ 4.3 
$(�
��
���� 

���.$+.��(.���.$%&
ก�
-$�(  

(�.�.2552) 
 
 

 
 
 
 
 

 

ก
���
,--.
 (conductivity)  
��ก<���"��� 4.10  ���!�[
�!�"%�*.��ก��
���EEO�
�#�ก�!� 1000 �./��A�$.
<,<!#

$A
<*$.<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.78  /
���
���� 


���.$+.��(.���%��� (0-100) $�!�ก�� 94.44   -�ก��
���EEO�[
�!�"%�*.��.�กก�!� 2500 �./��
A�$.
<,<!#$A
<*$.<�  .��!�$c-�����
���� 

���.$+.��(. (1-5)  <������(�
$�!�ก�� 1.39 /
���
��
�� 

���.$+.��(.���%��� (0-100) $�!�ก�� 9.68  -�ก	��$(�
��
���� 

���.$+.��(.�#"�!�
ก��
���EEO� $.)�#�!�ก��
���EEO�$�*�.���
$(�
��
���� 

��-
-" 
�"������ 4.4 

 
������ 4.4  

$(�
��
���� 

���.$+.��(.ก��
���EEO� 
(�./��A�$.
<,<!#$A
<*$.<�) 

(�.�. 2552) 
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���.$%&
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-$�(

��

��

��
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��
#>!
�ก
�

ก?�����
�@����#� (BOD) 
��ก<���"��� 4.11 ���!�[
�!�"%�*.�����.<�#"ก��##กA*$�
��"���$�.� 
�#�ก�!� 

1 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.88  /
���
��
�� 

���.$+.��(.���%��� (0-100) $�!�ก�� 97.08   -�[
�!�"%�*.��.�กก�!� 5.1 .*--*ก��.
<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5)  <������(�
$�!�ก�� 1.13 /
���
���� 


���.$+.��(.���%��� (0-100) $�!�ก�� 3.33  -�ก	���#"$(�
��
���� 

���.$+.��(.$.)�#.�
���.<�#"ก��##กA*$�
<�����
���� 

���.$+.��(.���!#
���"(9"  ��ก
��
��-
<���-"$�)�#�t 
$.)�#���.<�#"ก��##กA*$�
.��!�$�*�.(9"���
 
�"������ 4.5 

 
������ 4.5 

$(�
��
���� 

���.$+.��(.���.<�#"ก��##กA*$�
��"���$�.� 
(.*--*ก��.<!#-*<�)  (�.�. 2552) 

 
 
 
 
 
 
 
  

 	
�"	H����
����
 (TDS) 
 ��ก<���"��� 4.12  ���!�[
�!�"%�*.���#" �8"-�-��
���
�#�ก�!� 500 .*--*ก��.
<!#-*<� �!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.91 /
���
���� 

���.
$+.��(.���%��� (0-100) $�!�ก�� 97.66  -�[
�!�".�กก�!� 2,000 .*--*ก��.<!#-*<� .��!�$c-���
��
���� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.72 /
���
���� 

���.$+.��(.���%��� 
(0-100) $�!�ก�� 17.97  /
�-�ก	���#"ก��E[
�!�" �ก$.)�#%�*.���#" �8"-�-��
���$�*�.���
  
��
���� 

���.$+.��(.��-
-"#�!�"��
$�8�   <!$.)�##�9![
�!�" 1001-1500 .*--*ก��.<!#-*<�  
��
���� 

��$%-���
 %-"/
�-
-"#�!�"���t (������ 4.6) 
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������ 4.6 
$(�
��
���� 

���.$+.��(.�#" �8"-�-��
���  

(.*--*ก��.<!#-*<�)  (�.�. 2552) 
 
 
 
 
 
 
 

 
	
�"	H�"	���
� (SS) 
��ก<���"��� 4.13 ���!�[
�!�"%�*.���#" �8" ��
-#�
�#�ก�!� 10 .*--*ก��.<!#

-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.83 /
���
���� 

���.
$+.��(.���%��� (0-100) $�!�ก�� 95.77  -�[
�!�"%�*.��.�กก�!� 41 .*--*ก��.<!#-*<� .�
�!�$c-�����
���� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.42 /
���
���� 

���.$+.��(.
���%��� (0-100) $�!�ก�� 10.55  -�ก	���#"ก��E��.���
���� 

���.$+.��(.-
-"#�!�"
<!#$
)�#"  $.)�#%�*.���#" �8" ��
-#�$�*�.���
  
�"������ 4.7 

 

������ 4.7  
$(�
��
���� 

���.$+.��(.�#" �8" ��
-#� 

(.*--*ก��.<!#-*<�)  (�.�. 2552) 
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-
'�->--
'-
��' (PO4
3--P) 

��ก<���"��� 4.14  ���!�[
�!�"%�*.��E#($E<-E#(E#��(
�#�ก�!� 0.20 .*--*ก��.
<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.77 /
���
���� 

���.
$+.��(.���%��� (0-100) $�!�ก�� 94.32  -�[
�!�"%�*.��.�กก�!� 0.81 .*--*ก��.<!#-*<� .�
�!�$c-�����
���� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.62 /
���
���� 

���.$+.��(.
���%��� (0-100) $�!�ก�� 15.38  /
�-�ก	���#"ก��E[
�!�" �ก-
-"#�!�"��
$�8�$.)�#%�*.��
E#($E<-E#(E#��($�*�.���
   <!$.)�#%�*.��$�*�.$���(9![
�!�" 0.41-0.60 .*--*ก��.<!#-*<�  ก��E.�
ก��$%-���
 %-"/
�-
-"$���"$-8ก
�#�<!#$
)�#"�%$�)�#�t (������ 4.8) 

 
������ 4.8 

$(�
��
���� 

���.$+.��(.E#($E<-E#(E#��( 
(.*--*ก��.<!#-*<�)  (�.�. 2552) 

 
 
 
 
 
 
 
 
 

,��>��-,�D>���� (NO3
--N) 

��ก<���"��� 4.15  ���!�[
�!�"%�*.���
$<��-�
/<�$�

�#�ก�!� 1.0 .*--*ก��.<!#
-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.80 /
���
���� 

���.
$+.��(.���%��� (0-100) $�!�ก�� 94.92  -�[
�!�"%�*.��.�กก�!� 9.1 .*--*ก��.<!#-*<� .�
�!�$c-�����
���� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.10 /
���
���� 

���.$+.��(.
���%��� (0-100) $�!�ก�� 2.38  -�ก	���#"ก��E-
-"#�!�"��
$�8�<!#$
)�#"�%$�)�#�t $.)�#%�*.��
�
$<��-�
/<�$�
$�*�.���
 ������ 4.9   
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������ 4.9 
$(�
��
���� 

���.$+.��(.�
$<��-�
/<�$�
 

(.*--*ก��.<!#-*<�)  (�.�. 2552) 
 

 
 
 
 
 
 
 

 
"
#D#����-,�D>���� (NH3-N) 
��ก<���"��� 4.16 ���!�[
�!�"%�*.�� #./.$
��-�
/<�$�
  
�#�ก�!� 0.20 .*--*ก��.

<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.78 /
���
���� 

���.
$+.��(.���%��� (0-100) $�!�ก�� 94.44  -�[
�!�"%�*.��.�กก�!� 0.81 .*--*ก��.<!#-*<�  .�
�!�$c-�����
���� 

���.$+.��(. (1-5)  .��!�<���(�
$�!�ก�� 1.31 /
���
���� 

���.
$+.��(.���%��� (0-100) $�!�ก�� 7.66  ก��E.�-�ก	���)# �!�"<�
��
���� 

���!#�t -
-"
$
)�#"��ก%�*.�� #./.$
��-�
/<�$�
(9"���
   -�$.)�#0!�
�%�!�"+
��" ��
���� 

���.$+.��(.
��-
-"#�!�"���t ������ 4.10 
  

������ 4.10 
$(�
��
���� 

���.$+.��(. #./.$
��-�
/<�$�
 

(.*--*ก��.<!#-*<�)  (�.�. 2552) 
 

 

 

 

 

0.00

20.00

40.00

60.00

80.00

100.00

0.0 2.0 4.0 6.0 8.0 10.0

�
$<��-�
/<�$�
 (.*--*ก��.<!#-*<�)

��

��

��
 


�

��
.$
+.

��
(.

���%
���

0.00

20.00

40.00

60.00

80.00

100.00

0.00 0.20 0.40 0.60 0.80 1.00

 #./.$
��-�
/<�$�
 (.*--*ก��.<!#-*<�)

��

��

��
 


�

��
.$
+.

��
(.

���%
���



82 

 

'
�KL
��@�M@�
�
��
� (herbicides) 
��ก<���"��� 4.17 ���!�[
�!�"%�*.��(��G!�����)�
�#�ก�!� 0.20 .*--*ก��.<!#-*<� 

.��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 4.66 /
���
���� 

���.$+.��(.
���%��� (0-100) $�!�ก�� 91.39  -�[
%�*.��.�กก�!� 0.81 .*--*ก��.<!#-*<� .��!�$c-�����
��
�� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.80 /
���
���� 

���.$+.��(.���%��� (0-100) 
$�!�ก�� 20.00  ก��E.�-�ก	��-
-"#�!�"<!#$
)�#"[
���� �ก <!<!#.�ก��E��-
-"#�!�"���t 
A��"$.)�#(��G!�����)�$�*�.���
��
���� 

��.�ก��-
-"  
�"������ 4.11 
  

������ 4.11 
$(�
��
���� 

���.$+.��(.(��G!�����)� 

(.*--*ก��.<!#-*<�)  (�.�. 2552) 
 

  

 

 
 
 
 
 

 
'
�KL
P�>�8�M@"��'�>��ก��L#

��ก
D�-
'�-> (organophosphate pesticides) 
��ก<���"���  4.18 ���!�[
�!�"%�*.��(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/


E#($E<  
�#�ก�!� 0.09 .*--*ก��.<!#-*<� .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�

$�!�ก�� 4.72 /
���
���� 

���.$+.��(.���%��� (0-100) $�!�ก�� 93.03  -�[
�!�"%�*.��
.�กก�!� 0.40 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.92 
/
���
���� 

���.$+.��(.���%��� (0-100) $�!�ก�� 22.92  ก��E.� 
�/
�.-
-"�
$ก)#�$%&

$(�
<�"$.)�#%�*.��(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�*�.(9"���
   <!�!�"����.�
 
�/
�.-
-"$���"$-8ก
�#� ������ 4.12 
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������ 4.12 
$(�
��
���� 

���.$+.��(.(��G!���<�9�)� -�(�<�, 
ก-�!.##�,ก�/
E#($E< (.*--*ก��.<!#-*<�) (�.�. 2552) 

 
 
 
 
 
 
 
 

 
'
�KL
P�>�8�M@"��'�>��ก��L#�
���
�#> (carbamate pesticides) 
��ก<���"��� 4.19 ���!�[
�!�"%�*.��(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<   


�#�ก�!� 0.004 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5) (9"���(�
$�!�ก�� 
4.86 /
���
���� 

���.$+.��(.���%��� (0-100) $�!�ก�� 96.43  -�[
�!�"%�*.��.�กก�!� 
0.020 .*--*ก��.<!#-*<�  .��!�$c-�����
���� 

���.$+.��(. (1-5)  <���(�
$�!�ก�� 1.40 /
�
��
���� 

���.$+.��(.���%��� (0-100) $�!�ก�� 10.08  ก��E.� 
�/
�.-
-"#�!�"<!#$
)�#"
-�ก	��$%&
$(�
<�"  A��"$.)�#%�*.��(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�*�.���
��
���� 


��-
-" ������ 4.13 
  

������ 4.13 
$(�
��
���� 

���.$+.��(.(��G!���<�9�)� -�(�<�, 

ก-�!.���,��$.< (.*--*ก��.<!#-*<�)  (�.�. 2552) 
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 );f(pH; 300  σµ×

(4) (���"(.ก��
��
��!#��#" <!-�����.*$<#�, 
  $(�
��
���� 

���.$+.��(.�#" <!-�����.*$<#�,����
�
��.�+�(.ก��
��
��!#�
�#"���" 11 ����.*$<#�,$�)�#[+��
��� 

�!#� (sub score) /
��*�������ก�!�(�.%��(*�7*fก��
<�
(*
[� (R2) ���.��!�.�ก���(�
   -�-�ก	���#"ก��E���[+�-�ก	��7��.��<*�#"������
��� 

 
��
#�$%�ก� -��' (pH) 
-�ก	���#"ก��E$%&
��"��G�"�����  A��"$%&
�9% ��ก��Eก��ก�����%ก<* (normal 

distribution) �!����.%&
ก�
-$�( .��!�%ก<*#�9![
�!�"ก-�"   <!+�ก���.$%&
ก�
-$�( $�*�.���

+�)#-
-"ก8�����[+�������
���$%-���
 %-"�%   -�ก��ก��+

(.ก��
��
��!#�
��
���*�����
��ก�!�(�.%��(*�7*fก��<�
(*
[� (R2) ���(9"���(�
  

��
���� 

��ก(.ก��
��
��!#� (pH) =                                                      (4.1)  

               (R2) = 0.790 
 
$.)�#  pH �)#  ���.$%&
ก�
-$�(�#"
��� 
 µ   �)#  �!�$c-���.��!�$�!�ก��  7.4 

      σ   �)#  (!�
$����"$�
.�<�g�
.��!�$�!�ก��  1.21 
 
��ก$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#�

-�ก	���#"ก��E��$�*�.(9"���
$.)�#�!����.$%&
ก�
-$�($�*�.���
  �
ก�����"(9"(�
$.)�#.��!����.
$%&
ก�
-$�($�!�ก�� 7.5   <!+-�"��ก��

��$.)�#�!����.$%&
ก�
-$�($�*�.���
  ก��E��.� 
�/
�.
-
-" (������ 4.14) 
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100 0.033(EC)-  +

������ 4.14 
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 
 
 
 
 
 
 
 
 
 
 

 
-----------  $(�
��
���� 

���.$+.��(.���.$%&
ก�
-$�( 

           $(�
��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 
ก
���
,--.
 (conductivity) 
(.ก�����[+��!�(�.%��(*�7*fก��<�
(*
[� (R2 ) ���.��!�.�ก���(�
$�!�ก�� 0.991 $%&
    

(.ก��$(�
<�"A��".�(.ก���)#  

��
���� 

��ก(.ก��
��
��!#� (EC) =                  (4.2) 

              R2 = 0.991 

$.)�#  EC �)#  ก��
���EEO��#"
��� (�./��A�$.
<,<!#$A
<*$.<�) 
 

$(�
��
���� 

���.$+.��(.[
�!�"$�*�.<�
���!#�t -
-"#�!�"���t  <!$.)�##�9!
[
�!�"ก-�"��-
-"#�!�"��
$�8�   -�+-�"��ก
��
��-
-"���t $�!
$
���ก���!�"$�*�.<�
   <!$.)�#
9
��ก$(�
��
���� 

��ก(.ก��
��
��!#������!�.�ก��-
-"#�!�"(.���$(.#<��" <!<�
�%�

��
���� 

�#"ก��
���EEO�$���[ก-��9
�,  
�"������ 4.15 
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x1002.5) - 0.6(BOD
exp1

(-1.5)exp1









+

+

������ 4.15 
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#�ก��
���EEO� 
  
 
 
 
 
 
 
 
 
 

-----------  $(�
��
���� 

���.$+.��(.ก��
���EEO� 
           $(�
��
���� 

��ก(.ก��
��
��!#�ก��
���EEO� 
 
��
#>!
�ก
�

ก?�����
�@����#� (BOD) 
+�ก�!����.<�#"ก��##กA*$�
��"���$�.��*�"<���  ��
���� 

�*�"(9"���
 
�"
��


-�ก	���#"ก��E��"$%&
 ��A*ก.#� (sigmoid curve) /
�(.ก��
��
��!#��#"�!����.<�#"ก��
##กA*$�
��"���$�.�����
� �)# 

��
���� 

��ก(.ก��
��
��!#� (BOD)  =                                             (4.3)         

           R2 = 0.973 

           $.)�#  BOD �)#  ���.<�#"ก��##กA*$�
��"���$�.�[

��� (.*--*ก��.<!#-*<�) 

$(�
��
���� 

���.$+.��(.��
���� 

.��!�-
-"#�!�"��
$�8�$.)�#�!����.<�#"ก��
##กA*$�
��"���$�.�$�*�.���
  /
�-
-".�ก���(�
$.)�#���.<�#"ก��##กA*$�
��"���$�.�.��!�(9"ก�!� 4 
.*--*ก��.<!#-*<�  (��+���$(�
��
���� 

��ก(.ก��
��
��!#���
���� 

[
�!�" �ก��-
-"
#�!�"$+8
�
���
   <!$.)�#���.<�#"ก��##กA*$�
��"���$�.�(9"ก�!� 8 .*--*ก��.<!#-*<�  ก��-
-"�#"
�� 

��.�ก��$%-���
 %-"/
��!#�t -
<���-"�
ก�����"$���[ก-��9
�,�� 

 (������ 4.16) 

0.00
20.00
40.00
60.00
80.00

100.00
120.00

0 500 1000 1500 2000 2500 3000
ก��
���EEO� (�./��A�$.
<,<!#$A
<*$.<�)

��

��

��
 



�
��
.$
+.

��
(.

���%
���

R2 = 0.991 
100 -0.033(EC) y  +=



87 

 

TDS)(-0.0008exp 100 ×

������ 4.16 
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก�� 


��
��!#����.<�#"ก��##กA*$�
��"���$�.� 

 

 

 

 

 

 

 
-----------  $(�
��
���� 

���.$+.��(.���.<�#"ก��##กA*$�
��"���$�.� 

           $(�
��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 
	
�"	H����
����
 (TDS) 
-�ก	��ก��E$%&
 ��$#ก/�$
-$���- (exponential)  A��"(.ก��
��
��!#��#"

�#" �8"-�-��
����)# 

                    ��
���� 

��ก(.ก��
��
��!#� (TDS)  =                                                   (4.4) 

                                       R2 = 0.991 

 $.)�#    TDS   �)#    %�*.���#" �8"-�-��
��� (.*--*ก��.<!#-*<�) 

 $(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#��#"
�#" �8"-�-��
���  .�-�ก	��-
-"#�!�"<!#$
)�#"��.�%;�"��
���� 

�#"�#" �8"-�-��
������
-
-"$�!
$
���ก�
  $.)�#%�*.���#" �8"-�-��
���
��
$�*�.(9"���
 (������ 4.17)   
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exp1
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x100
10
23-SS

exp1

(-2.3)exp1












+

+

������ 4.17 
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
 
  
 
 
 
 
 
 
 
 
 
 
 
 

-----------  $(�
��
���� 

���.$+.��(.�#" �8"-�-��
��� 
           $(�
��
���� 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
 
	
�"	H�"	���
� (SS) 
-�ก	���#"ก��E$%&
-�ก	���#"ก��EA*ก.#� (sigmoid curve)  (.ก��
��
��!#�

�#" �8" ��
-#� �)# 
 

                    ��
���� 

��ก(.ก��
��
��!#� (SS) =                                              (4.5) 
 

              R2 = 0.983 

$.)�#   SS   �)#  �#" �8" ��
-#�[

��� (.*--*ก��.<!#-*<�) 

$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#��#"
�#" �8" ��
-#�  .� 
�/
�.���-
-"<�.��
���� 

���<���-"$.)�#%�*.���#" �8" ��
-#�$�*�.
(9"���
(������ 4.18)   
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)PO(-2.2exp 100
-3

4
×

������ 4.18 
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
 

 

 

 

 

 

 

-----------  $(�
��
���� 

���.$+.��(.�#" �8" ��
-#� 
           $(�
��
���� 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
 
-
'�->--
'-
��' (PO4

3--P) 
$.)�#-"��
�
�-�ก	���#"ก��E$(�
/��"+"�����
 ก��E��-
-"#�!�"��
$�8� <!#.�

ก��E���!#�t -
-" $%&
-�ก	���#"ก��E$#ก/�$
-$���- (exponential) �
�(.ก��
��
��!#��)# 

��
���� 

��ก(.ก��
��
��!#� (PO4
3-) =                 (4.6) 

                  R2 = 0.991 

$.)�#    PO4
3-   �)#  E#($E<-E#(E#��([

��� (.*--*ก��.<!#-*<�)   

-�ก	���#"$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
�
�!#�(#
�-�#"ก��ก��$%-���
 %-"��
���� 

�����-
-"#�!�"��
$�8�$.)�#�!�E#($E<-
E#(E#��((9"���
   -�<!#.����!#�t -
-"$.)�#�!�E#($E<-E#(E#��((9"ก�!� 0.5 .*--*ก��.<!#
-*<� (������ 4.19) 
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100)-10.5(NO-
3
+

������ 4.19  
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
  
 
 
 
 
 
 
 
 
 

 
-----------  $(�
��
���� 

���.$+.��(.E#($E<-E#(E#��( 

           $(�
��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 
,��>��-,�D>���� (NO3

--N) 
$.)�#-"��
�
�-�ก	���#"ก��E$%&
$(�
<�"  /
�(.ก������
��)#  

��
���� 

��ก(.ก��
��
��!#�  (NO3
-)   =                                                (4.7) 

                                       R2 = 0.989 

$.)�#    NO3
-    �)#   �
$<��-�
/<�$�
[

��� (.*--*ก��.<!#-*<�) 

-�ก	��$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#�  
.�-�ก	��$+.)#
ก�
�)#$%&
$(�
<�"  ���.� 
�/
�.�#"�� 

-
-"$.)�#�!��
$<��-�
/<�$�
$�*�.
(9"���
 (������ 4.20) 
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100)130(NH-)37(NH
3

2
3 +

������ 4.20  
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

-----------  $(�
��
���� 

���.$+.��(.�
$<��-�
/<�$�
 
           $(�
��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 

 
 

"
#D#����-,�D>���� (NH3
 -N) 

$.)�#-"��
���
�-�ก	��ก��E$%&
 ��/�-*/
$.��- (polynomial) /
�(.ก������
��)# 

��
���� 

��ก(.ก��
��
��!#� (NH3) =                                                    (4.8) 

                  R2 = 0.998 

$.)�#   NH3    �)#    #./.$
��-�
/<�$�
[

��� (.*--*ก��.<!#-*<�) 

$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#�  .�
-�ก	��-
-"#�!�"<!#$
)�#"��.�%;�"��
���� 

�#" #./.$
��-�
/<�$�
���.� 
�/
�.-
-"
$.)�#%�*.�� #./.$
��-�
/<�$�

��
$�*�.(9"���
 (������ 4.21) 
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Her)(-1.9exp 100 ×

������ 4.21  
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 
 
 
 
 
 
 
 
 
 

 
-----------  $(�
��
���� 

���.$+.��(. #./.$
��-�
/<�$�
 

           $(�
��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 

'
�KL
��@�M@�
�
��
� (Herbicides) 
$.)�#-"��
���
�-�ก	��ก��E$%&
 ��$#ก/�$
-$���- (exponential)  /
�.�(.ก��

����
��)# 

��
���� 

��ก(.ก��
��
��!#� (Her) =                                                   (4.9) 

                                     R2 = 0.993 

$.)�#   Her    �)#   %�*.��(��G!�����)�[

��� (.*--*ก��.<!#-*<�) 

$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#�.�
-�ก	��-
-"#�!�"<!#$
)�#"  ��.�%;�"��
���� 

�#"(��G!�����)����.� 
�/
�.-
-"  $.)�#.�
%�*.��(��G!�����)� $�*�.(9"���
 (������ 4.22) 
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OP)(-4.0exp 100 ×

������ 4.22  
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

 

��ก(.ก��
��
��!#�(��G!�����)�������#� 
 
 
 
 
 
 
 
 
 
 
 

-----------  $(�
��
���� 

���.$+.��(.(��G!�����)�������#� 
           $(�
��
���� 

��ก(.ก��
��
��!#�(��G!�����)�������#� 

 
'
�KL
P�>�8�M@"��'�>��ก��L#

��ก
D�-
'�-> (organophosphate pesticides) 
$.)�#-"�*ก�
���
�-�ก	��ก��E$%&
 ��$#ก/�$
-$���- (exponential)  /
�.� 

(.ก������
��)# 

��
���� 

��ก(.ก��
��
��!#� (OP) =                                                    (4.10) 

                                    R2 = 0.971 

$.)�#   OP    �)#   %�*.��(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<[

��� 
(.*--*ก��.<!#-*<�) 

$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#�  .�
-�ก	��-
-"#�!�"<!#$
)�#"  ��.�%;�"��
���� 

����
���.� 
�/
�.-
-"  $.)�#.�%�*.��(��G!�
��<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< $�*�.(9"���
 (������ 4.23) 
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1004430(Car)- +

������ 4.23  
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก�� 


��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 
 
 
 
 
 
 
 
 
 
 
 

-------  $(�
��
���� 

���.$+.��(.(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 
      $(�
��
���� 

��ก(.ก��
��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 
 
'
�KL
P�>�8�M@"��'�>��ก��L#�
���
�#> (carbamate pesticides) 
$.)�#-"��
���
�-�ก	��ก��E$%&
 ��$(�
<�"  /
�(.ก������
��)# 

��
���� 

��ก(.ก��
��
��!#� (Car) =                                                   (4.11) 

                                    R2 = 0.991 

$.)�#   Car   �)#  %�*.��(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<[

��� (.*--*ก��.<!#-*<�) 
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก��
��
��!#�  .�-�ก	��

-
-"#�!�"<!#$
)�#"$%&
$(�
<�"  ��
���� 

����
���.� 
�/
�.-
-"  $.)�#.�%�*.��(��G!�
��<�9�)� -�(�<�,ก-�!.���,��$.< $�*�.(9"���
 (������ 4.24) 
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������ 4.24  
$(�
��
���� 

���.$+.��(. -�$(�
��
���� 

��ก(.ก�� 


��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 
 
 
 
 
 
 
 
 
 
 

 
-------  $(�
��
���� 

���.$+.��(.(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 

      $(�
��
���� 

��ก(.ก��
��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 
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 );f(pH; 300  σµ×

100 0.033(EC)-  +

x1002.5) - 0.6(BOD
exp1

(-1.5)exp1100
f(0)
f(x)










+

+
× =

TDS)(-0.0008exp 100 ×

x100
10
23-SS

exp1

(-2.3)exp1100
f(0)
f(x)












+

+
× =

100)-10.5(NO-
3
+

)PO(-2.2exp 100
-3

4
×

100)130(NH-)37(NH
3

2
3 +

ก��(���"(.ก��
��
��!#��#" <!-�����.*$<#�,$�)�#[��$%&
�!�(�.%��(*�7*f  [
(.ก��

��
�������
�������������ก
�����  .�(.ก��
��
��!#��#" <!-�����.*$<#�, -��!�(.%��(*�7*f
ก��<�
(*
[� (R2)  
�"<���"��� 4.20    

 
<���"��� 4.20 

(.ก��
��
��!#��#" <!-�����.*$<#�,���
�
 11 ����.*$<#�, 
 -��!�(�.%��(*�7*fก��<�
(*
[� (R2) 

 

����.*$<#�, (.ก��
��
��!#� 
�!�(�.%��(*�7*fก��
<�
(*
[� (R2) 

���.$%&
ก�
-$�(  0.790 

ก��
���EEO�  0.991 

���.<�#"ก��##กA*$�

��"���$�.� 

 
0.973 

�#" �8"-�-��
���  0.991 

�#" �8" ��
-#� 
 

0.983 

�
$<��-�
/<�$�
  0.989 

E#($E<-E#(E#��(  0.991 

 #./.$
��-�
/<�$�
  0.998 

(��G!�����)�  0.993 

(��G!���<�9�)� -�(�<�,
ก-�!.##�,ก�/
E#($E< 

 
0.971 
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	���>
���� 3 ก
�$��#���L
���
���ก��
#'�
��Y"���� ����"�����, !�
ก
'#ก
� �@���L
���M�
'�!
� �@������
����
������
��
ก�
	!
� 

 
$.)�#�*$����+, ��(#�;�.$�)�#[+��
��!�
���+
�ก���.(����`�#" <!-�����.*$<#�,

 -���
���� 

����
���ก(.ก��
��
��!#��#" <!-�����.*$<#�,  ��ก
��

���!����"(#"��.$%&
�!�
$
�����ก(.ก�� 

   ∑
n

i
i=1

iWQI=  w I                                      (4.12) 
               $.)�# WQI  �)# 
��
�������
��� (�� 

) 

                 wi     �)# 
���+
�ก<�.���.(����`�#"����.*$<#�, <!-��
*
 /
�(i = 1 ;�" n) 

                Ii       �)# ��
���� 

����
���ก(.ก��
��
��!#� /
� (i = 1 ;�" n) 
 n       �)# ���
�
����.*$<#�,���[�����
�����"+.
 
  

 �@������
����
��
��� 11 �
�
#��>
�� 
 
��ก����.*$<#�,�������*�����[
ก��(���"(.ก��.����"+.
 11 ����.*$<#�,   -�

 �
�!�-"[
(.ก�� 4.12 A��"�!�
��
�
���+
�ก�!#��#" <!-�����.*$<#�, (wi) �
���ก���
<#
��� 2 �!�
(.ก��
��
��!#��#" <!-�����.*$<#�, (Ii) ��ก���
<#
��� 4  �
�(.ก��
��
�������
�����������
��ก�)�
���
������#"����$�*�.%-9ก  ���� <กก#  ����##ก��" -�����$ก8�$ก����  
�"
�� 


��
�������
�������������ก
���������$�*�.%-9ก  �#"/��"ก��(!"
��� -�
�����"��ก	��-#"$�����-$(��+�  ��"+��
(������ -����
�����#��7�� ((.ก����� 4.13)  

WQI (Pad11)    =    0.100 (BOD) + 0.099 (Her) + 0.095 (NO3
-) + 0.090 (OP) +     

0.090 (NH3) + 0.090 (pH) + 0.089 (TDS) + 0.089 (PO4
3-) +    

0.088 (SS) + 0.087 (Car) + 0.083 (EC)                            (4.13) 


��
�������
�������������ก
��������� <กก#  �#"/��"ก��(!"
��� -������"��ก	�
�-#"$�����-$(��+�  ��"+��
(������ -����
�����#��7��  ((.ก����� 4.14) 
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WQI (Pad11)  =      0.102 (Her) + 0.102 (OP) + 0.097 (Car) + 0.096 (NO3
-) +   

0.093 (BOD) + 0.092 (PO4
3-) + 0.092 (NH3) + 0.083 (pH) +  

0.081 (EC) + 0.081 (TDS) + 0.079 (SS)                            (4.14) 


��
�������
�������������ก
���������##ก��"  �#"/��"ก��(!"
��� -�
�����"��ก	��-#"$�����-$(��+�  ��"+��
(������ -����
�����#��7��  ((.ก����� 4.15) 

WQI (Pad11)  =      0.098 (NO3
-) + 0.096 (PO4

3-) + 0.096 (BOD) + 0.096 (OP) + 
0.093 (Car) + 0.093 (NH3) + 0.091 (Her) + 0.088 (pH) +  
0.086 (SS) + 0.081 (EC) + 0.081 (TDS)                            (4.15) 


��
�������
�������������ก
���������$ก8�$ก����  �#"/��"ก��(!"
��� -�
�����"��ก	��-#"$�����-$(��+�  ��"+��
(������ -����
�����#��7��((.ก����� 4.16) 

WQI (Pad11)  =      0.097 (Car) + 0.096 (Her) + 0.096 (BOD) + 0.095 (NO3
-) +      

0.092 (PO4
3-) + 0.092 (OP) + 0.090 (pH) + 0.089 (NH3) +  

0.087 (TDS) + 0.087 (SS) + 0.079 (EC)                            (4.16) 
 
$.)�# WQI (Pad11) �)#  
��
�������
�������������ก
����� (�� 

) 
 Car          �)#  ��
���� 

��ก(.ก��
��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 
 Her �)#  ��
���� 

��ก(.ก��
��
��!#�(��G!�����)� 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 OP             �)#  ��
���� 

��ก(.ก��
��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 
 pH �)#  ��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 TDS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
 SS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
 EC �)#  ��
���� 

��ก(.ก��
��
��!#�ก��
���EEO� 
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$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  A��" �ก
<�.����ก��$��*`$<*�/<�#"�������" 4 ����.� �
�!�[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก ((.ก����� 4.13)  .��� 

(9"(�
$�!�ก�� 84.69 �� 

  ���� <กก# ((.ก����� 4.14) .�
�� 

$�!�ก�� 79.27 �� 

  ����##ก��" ((.ก����� 4.15) .��� 

$�!�ก�� 73.51 �� 

  
 -�����$ก8�$ก���� ((.ก����� 4.16) .��� 

<���(�
$�!�ก�� 72.04 �� 

  
�"<���"��� 4.21 


��
�������
�������������ก
���������$�*�.%-9ก ((.ก����� 4.13) ���!�.��� 


(9"(�
��*$��(;�
���(*�7*f (SH 08) $�!�ก�� 84.33 �� 

 ������(;�
�+����.*�
 (SH 12)          
.��� 

<���(�
$�!�ก��  71.54 �� 

  
�"<���"��� 4.21  


��
�������
�������������ก
������#"���� <กก# ((.ก����� 4.14)  ���!�(;�
�
+
#"ก� (SH 06) .��� 

(9"(�
$�!�ก�� 87.54 �� 

  /
����(;�
��ก!$(!� (SH 04)  .��� 


<���(�
$�!�ก�� 73.40 �� 

  
�"<���"��� 4.21 


��
�������
�������������ก
������#"����##ก��" ((.ก����� 4.15)  ���!�
(;�
���(*�7*f (SH 08) .��� 

(9"(�
$�!�ก��  83.10 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 


<���(�
$�!�ก�� 62.11 �� 

  
�"<���"��� 4.21 


��
�������
�������������ก
������#"����$ก8�$ก���� ((.ก����� 4.16)  ���!�
(;�
�/�ก���$+-8ก (SH 09) .��� 

(9"(�
$�!�ก�� 84.25 �� 

  [
������(;�
�$(��+� (SH 02)  
.��� 

<���(�
$�!�ก�� 68.87 �� 

  
�"<���"��� 4.21 


��
�������
���[
����$�*�.%-9ก.�������
���[
�-#"(!"
���
�ก�!�
�����������##ก
��ก
�����   <![
���� <กก#  ##ก��"   -�$ก8�$ก����.�������
���[
�-#"(!"
���<���ก�!�
������
�������ก
����� 
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<���"��� 4.21 
�� 


��
�������
�������������ก
����� (11 ����.*$<#�,) 

����$�*�.%-9ก   <กก#  ##ก��"   -�$ก8�$ก���� 
  

�� 


��
�������
�������������ก
��������� 
(;�
� �)�# 

$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 
SH 01 /�"(9�
���$(��+� 84.69 79.27 73.51 72.04 
SH 02 $(��+� 82.59 77.30 76.26 68.87 
SH 03 $.)#"$ก!� 74.81 82.10 74.45 80.32 
SH 04 �ก!$(!� 80.38 73.40 62.11 72.08 
SH 05 �!�+-�" 78.38 76.08 67.51 70.83 
SH 06 +
#"ก� 82.64 87.54 74.01 76.20 
SH 07 /�ก(�#�
 81.15 84.33 80.21 76.16 
SH 08 ��(*�7*f 84.33 81.49 83.10 84.22 
SH 09 /�ก���$+-8ก 81.24 83.40 77.29 84.25 
SH 10 +
#"%-*" 1 71.85 75.30 74.38 75.98 
SH 11 +
#"%-*" 2 76.55 79.05 72.48 81.00 
SH 12 +����.*�
 71.54 74.04 74.74 76.33 

�Z���� (���
��
ก�
	!
�) 78.68 79.46 74.17 76.93 
>��
'�  (���
��
ก�
	!
�) 71.54 73.40 62.11 68.87 
'8�'�  (���
��
ก�
	!
�) 84.33 87.54 83.10 84.25 

 
��ก(.ก�����"<�
$�)�#[+��
�<�� �
���
����(�
[
ก��
��.�[��[
�)�
�����ก	�$���"(.ก��

$
���  /
�
��(.ก���#"���" 4 ����ก��$��*`$<*�/<.��
(#����. <ก<!�"��"(;*<* ���!�.�
���. <ก<!�"#�!�"�.!.�
��(����`�����
�����.$�)�#.��
��#�-� 95  ��"(�.��;(���"(.ก��<�� �

����$��*`$<*�/<�#"����[
�)�
���/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�$���"(.ก��
$
����
�  ��กก��
���!�$c-�����
�����.(����` (significant level)  �#" <!-�����.*$<#�,����
����"
��ก����$�*�.%-9ก  ���� <กก#  ����##ก��"   -�����$ก8�$ก����.�+��!�$c-���  ��ก
��

��.�
+�
���+
�ก��
�����.(����`(temporary weight)  -�
��
�
���+
�ก�!#� (sub-index weight)  
�#"���" 11 ����.*$<#�,#�ก����"  ���!�(��G!�����)�.�
��
�
���+
�ก�!#�(9"(�
$�!�ก�� 0.097 �!�
��
�

���+
�ก�!#���ก����.*$<#�,-��
��<!#�%�
� ก!  ���.<�#"ก��##กA*$�
��"���$�.�$�!�ก�� 0.097  
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�
$<��-�
/<�$�
$�!�ก�� 0.096  (��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<$�!�ก�� 0.095  
(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<$�!�ก�� 0.094  E#($E<-E#(E#��($�!�ก�� 0.092  
 #./.$
��-�
/<�$�
$�!�ก�� 0.091  ���.$%&
ก�
-$�($�!�ก�� 0.088  �#" �8"-�-��
���$�!�ก�� 
0.085  �#" �8" ��
-#�$�!�ก�� 0.084   -�ก��
���EEO�$�!�ก�� 0.081  <�.-��
�� (<���"��� 
4.22) 

 
<���"��� 4.22 


���+
�ก��
�����.(����` -�
��
�
���+
�ก�!#� 
�#"����.*$<#�,���$%&
<�� �
�#"���" 4 ���� 

 

����.*$<#�, 
�!�$c-��� 

��
�����.(����` 

���+
�ก��
��
���.(����`  


��
�
���+
�ก�!#� 

(��G!�����)� 2.396 1.000 0.097 

���.<�#"ก��##กA*$�
��"���$�.� 2.407 0.995 0.097 

�
$<��-�
/<�$�
 2.412 0.993 0.096 

(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   2.447 0.979 0.095 

(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 2.484 0.965 0.094 

E#($E<-E#(E#��(   2.514 0.953 0.092 

 #./.$
��-�
/<�$�
   2.544 0.942 0.091 

���.$%&
ก�
-$�(   2.648 0.905 0.088 

�#" �8"-�-��
���   2.740 0.874 0.085 

�#" �8" ��
-#� 2.754 0.870 0.084 

ก��
���EEO� 2.869 0.835 0.081 

��. 10.310 1.000 
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 �@������
����
��
��� 11 �
�
#��>
��  ����$%�>��"��	
����� 4 ���� 
 
$.)�#
���!�
��
�
���+
�ก�!#��#"����.*$<#�,���$%&
<�� �
�#"���" 4 ����  .�(���"

(.ก��
��
�������
�������������ก�)�
���
�����A��"$%&
<�� �
ก��$��*`$<*�/<�#"�������" 4 ����  

�"(.ก����� 4.17 

 
WQI (Pad11)  =      0.097 (Her) + 0.097 (BOD) + 0.096 (NO3

-) + 0.095 (OP) +     
0.094 (Car) + 0.092 (PO4

3-) + 0.091 (NH3) +  0.088 (pH) +  
0.085 (TDS) + 0.084 (SS) + 0.081 (EC)                            (4.17) 

 
$.)�# WQI (Pad11) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 Her �)#  ��
���� 

��ก(.ก��
��
��!#�(��G!�����)� 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 OP             �)#  ��
���� 

��ก(.ก��
��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E< 
 Car          �)#  ��
���� 

��ก(.ก��
��
��!#�(��G!���<�9�)� -�(�<�,ก-�!.���,��$.< 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 pH �)#  ��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 TDS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
 SS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
 EC �)#  ��
���� 

��ก(.ก��
��
��!#�ก��
���EEO� 

 
/
�.���
���� 

����
���ก(.ก��
��
��!#��#" <!-�����.*$<#�,  
�"���0
�ก " 
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<���"��� 4.23 
�� 


��
�������
�������������ก
����� (11 ����.*$<#�,) 

���$%&
<�� �
�#"���" 4 ���� 
  

�� 


��
�������
�������������ก
��������� 
(;�
� �)�# 

$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 
SH 01 /�"(9�
���$(��+� 84.61 78.81 73.54 71.49 
SH 02 $(��+� 82.46 76.90 76.30 68.39 
SH 03 $.)#"$ก!� 74.75 81.94 74.51 79.96 
SH 04 �ก!$(!� 80.30 72.76 61.83 71.24 
SH 05 �!�+-�" 78.21 75.25 67.33 70.35 
SH 06 +
#"ก� 82.46 87.02 73.85 75.84 
SH 07 /�ก(�#�
 80.99 84.08 80.17 75.69 
SH 08 ��(*�7*f 84.17 81.02 82.92 83.82 
SH 09 /�ก���$+-8ก 81.05 82.72 77.40 83.86 
SH 10 +
#"%-*" 1 71.74 74.58 74.46 75.49 
SH 11 +
#"%-*" 2 76.42 78.52 72.47 80.41 
SH 12 +����.*�
 71.49 73.22 74.54 75.75 

�Z���� (���
��
ก�
	!
�) 78.55 78.91 74.16 76.44 
>��
'�  (���
��
ก�
	!
�) 71.49 72.76 61.83 68.39 
'8�'�  (���
��
ก�
	!
�) 84.17 87.02 82.92 83.86 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก  .��� 

(9"(�
$�!�ก�� 84.61 �� 

  ���� <กก#  .��� 

$�!�ก�� 78.81 �� 

  
����##ก��"  .��� 

$�!�ก�� 73.54 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 71.49 
�� 

  
�"<���"��� 4.23 
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��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
���(*�7*f (SH 08) $�!�ก�� 84.17 �� 

  ������(;�
�+����.*�
 (SH 12) .��� 

<���(�

$�!�ก��  71.49 �� 

  
�"<���"��� 4.23 


��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 87.02 �� 

  /
����(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 
72.76 �� 

  
�"<���"��� 4.23 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f (SH 08) 
.��� 

(9"(�
$�!�ก��  82.92 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 61.83 
�� 

  
�"<���"��� 4.23 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�/�ก���$+-8ก    
(SH 09) .��� 

(9"(�
$�!�ก�� 83.86 �� 

  [
������(;�
�$(��+� (SH 02)  .��� 

<���(�

$�!�ก�� 68.39 �� 

  
�"<���"��� 4.23 


��
�������
���[
����$�*�.%-9ก.�������
���[
�-#"(!"
���
�ก�!�
�����������##ก
��ก
�����   <![
���� <กก#  ##ก��"   -�$ก8�$ก����.�������
���[
�-#"(!"
���<���ก�!�
������
�������ก
����� 

��กก��$ก8�<��#�!�"
���[
/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  ��"+��

(������ -����
�����#��7��  $.)�#
���%�*$����+,0-[

��
�#"(��G!�����)�������#�  (��G!�
��<�9�)� -�(�<�,ก-�!.##�,ก�/
E#($E<   -�(��G!���<�9�)� -�(�<�,ก-�!.���,��$.<  0-ก��
�*$����+,������
����.!��.;�"<�ก#

*
���!�.�%�*.��(��$+-!�
��.��!�
�#�.�ก  �
<���ก�!��!����
(�.��;<�����
�
�
�#����(�
 (limit of detection) A��".��!�$�!�ก�� 0.001 .*--*ก��.<!#-*<�  (��G!�
��<�9�)� -�(�<�,[
ก-�!.
��.��!�
�#�.�ก#��$%&
0-.���ก7��.��<*�#"(��[
ก-�!.
��  A��"(�.��;
(-��<���
�"!�����"
���%s�����#" ("A��".�0-<!#ก��(-��<���#"(��$+-!�
��
  ก��-�-��
������
(�.��;-�-��
����
�
�#�  (!�
[+ !̀(��G!���<�9�)� -�(�<�, -�(��G!�����)�.�ก<ก���"#�9!ก��
<�ก#

*
[

�����  #�ก���"$.)�#.�ก��c�
�!
(!�
[+ !̀(��$+-!�
��
ก8��<*
#�9!ก��<�
����  $.)�#.�ก��
�*$����+,$c���[

����.!��.;�"<�ก#

*
��"���!�.�%�*.��
�#�.�ก 
�"
��
����.*$<#�,������
�*�������"$�!�ก�� 8 ����.*$<#�, ��ก���
�
 11 ����.*$<#�, 
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$.)�#�*������!�$c-�����
�����.(����` (significant level)  �!�
���+
�ก��
��
���.(����` (temporary weight)   -��!�
��
�
���+
�ก�!#� (sub-index weight) ���!��!�
��
�

���+
�ก�!#� (sub-index weight) �#"���.<�#"ก��##กA*$�
��"���$�.�.��!�(9"(�
$�!�ก�� 0.135 
��ก
��
+��!�
��
�
���+
�ก�!#���ก����.*$<#�,<��<!#�%�
� ก!  E#($E<-E#(E#��(   #./.$
��-
�
/<�$�
  ���.$%&
ก�
-$�(  �#" �8"-�-��
���  �#" �8" ��
-#�   -�ก��
���EEO�  /
�.�
�!�
��
�
���+
�ก�!#�$�!�ก��  0.135  0.129  0.128  0.123  0.11  0.118   -� 0.113  <�.-��
��     
(<���"��� 4.24) 

 
<���"��� 4.24 


���+
�ก��
�����.(����` -�
��
�
���+
�ก�!#� 
�#"����.*$<#�,�������*����� 8 ����.*$<#�, 

 

����.*$<#�, 
�!�$c-��� 

��
�����.(����` 


���+
�ก��
��
���.(����`  


��
�
���+
�ก�!#� 

���.<�#"ก��##กA*$�
��"���$�.� 2.407 1.000 0.135 

�
$<��-�
/<�$�
 2.412 0.998 0.135 

E#($E<-E#(E#��(   2.514 0.954 0.129 

 #./.$
��-�
/<�$�
   2.544 0.946 0.128 

���.$%&
ก�
-$�(   2.648 0.909 0.123 

�#" �8"-�-��
���   2.740 0.874 0.119 

�#" �8" ��
-#� 2.754 0.858 0.118 

ก��
���EEO� 2.869 0.839 0.113 

��. 7.403 1.000 

 
 �@������
����
��
��� 8 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 11 ����.*$<#�, ((.ก�����
4.17)  $.)�#-
���
�
����.*$<#�,-"$+-)# 8 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.18 
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WQI (Pad8)  =     0.135 (BOD) + 0.135 (NO3
-) + 0.129 (PO4

3-) + 0.128 (NH3) +   
0.123 (pH) + 0.119 (TDS) + 0.118 (SS) + 0.113 (EC)           (4.18) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 pH �)#  ��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 TDS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
 SS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
 EC �)#  ��
���� 

��ก(.ก��
��
��!#�ก��
���EEO� 

 

<���"��� 4.25 
�� 


��
�������
�������������ก
����� (8 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 79.12 70.77 63.50 60.94 
SH 02 $(��+� 76.12 68.02 67.20 56.45 
SH 03 $.)#"$ก!� 65.45 74.88 64.76 72.36 
SH 04 �ก!$(!� 73.01 62.40 47.82 60.78 
SH 05 �!�+-�" 70.20 65.97 54.95 59.24 
SH 06 +
#"ก� 76.20 82.33 64.13 66.86 
SH 07 /�ก(�#�
 74.06 77.99 72.69 66.50 
SH 08 ��(*�7*f 78.51 73.85 76.62 78.04 
SH 09 /�ก���$+-8ก 74.14 76.39 68.72 78.11 
SH 10 +
#"%-*" 1 61.57 64.89 64.66 66.39 
SH 11 +
#"%-*" 2 67.91 70.44 62.01 73.35 
SH 12 +����.*�
 60.92 63.15 64.97 66.69 

�Z���� (���
��
ก�
	!
�) 70.74 70.94 64.41 67.71 
>��
'�  (���
��
ก�
	!
�) 60.92 62.40 47.82 56.45 
'8�'�  (���
��
ก�
	!
�) 78.51 82.33 76.62 78.11 
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$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�
[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก  .��� 

(9"(�
$�!�ก�� 79.12 �� 

  ���� <กก#  .��� 

$�!�ก�� 70.77 �� 

  
����##ก��"  .��� 

$�!�ก�� 63.50 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 60.94 
�� 

  
�"<���"��� 4.25 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
���(*�7*f (SH 08) $�!�ก�� 78.51 �� 

  ������(;�
�+����.*�
 (SH 12) .��� 

<���(�

$�!�ก��  60.92 �� 

  
�"<���"��� 4.25 


��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 82.33 �� 

  /
����(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 
62.40  �� 

  
�"<���"��� 4.25 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f (SH 08) 
.��� 

(9"(�
$�!�ก�� 76.62 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 47.82 
�� 

  
�"<���"��� 4.25 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�/�ก���$+-8ก   
(SH 09) .��� 

(9"(�
$�!�ก�� 78.11 �� 

  [
������(;�
�$(��+� (SH 02)  .��� 

<���(�

$�!�ก�� 56.45 �� 

  
�"<���"��� 4.25 


��
�������
���[
����$�*�.%-9ก.�������
���[
�-#"(!"
���
�ก�!�
�����������##ก
��ก
�����   <![
���� <กก#  ##ก��"   -�$ก8�$ก����.�������
���[
�-#"(!"
���<���ก�!�
������
�������ก
����� 
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ก��(���"
��
�������
�������������ก
�����$�)�#[+��
�(.ก�����.����
�
����.*$<#�,

�#����(�
  /
������[+�ก��
���%[����*"[
�)�
���.����.(�
�ก[
ก���*$����+, -�#7*���0-
������
����
�#�!�"��
$�8�  ��"�
�<�
����.*$<#�,���.���
�����.(����`
�#����(�
##ก  ��ก(.ก��
���"<�
���
�
 8 ����.*$<#�,  $.)�#<�
ก��
���EEO�  A��".���
�����.(����`
�#����(�
##ก���[+�
$+-)#(.ก�����.����
�
 7 ����.*$<#�,  ��ก
��
�
�<�
����.*$<#�,���.���
�����.(����`
�#�[

-��
��<!#.�  �
� ก!  �#" �8" ��
-#�  �#" �8"-�-��
���  ���.$%&
ก�
-$�(   #./.$
��-
�
/<�$�
  E#($E<-E#(E#��(   -��
$<���
/<�$�
  <�.-��
��  A��"���[+��
�(.ก��
��
�
������
�������������ก
�����.����
�
����.*$<#�,[
(.ก��$�!�ก�� 6   5   4   3   2  -� 1 
����.*$<#�,  <�.-��
��   

 
 �@������
����
��
��� 7 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 7 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.19 

WQI (Pad7)  =     0.152 (BOD) + 0.152 (NO3
-) + 0.146 (PO4

3-) + 0.144 (NH3) +   
 0.139 (pH) + 0.134 (TDS) + 0.133 (SS)                                  (4.19) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 pH �)#  ��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 TDS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
 SS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
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<���"��� 4.26 
�� 


��
�������
�������������ก
����� (7 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 78.49 69.10 61.14 58.17 
SH 02 $(��+� 76.11 67.00 65.86 53.75 
SH 03 $.)#"$ก!� 63.87 73.93 62.98 71.55 
SH 04 �ก!$(!� 73.65 62.87 43.99 58.71 
SH 05 �!�+-�" 69.63 64.45 55.74 56.37 
SH 06 +
#"ก� 74.54 81.74 61.32 64.31 
SH 07 /�ก(�#�
 72.24 77.18 70.86 64.96 
SH 08 ��(*�7*f 79.01 73.62 75.60 77.86 
SH 09 /�ก���$+-8ก 74.04 76.11 66.60 77.39 
SH 10 +
#"%-*" 1 59.58 62.94 61.87 64.10 
SH 11 +
#"%-*" 2 66.25 69.07 59.62 72.26 
SH 12 +����.*�
 58.86 61.78 62.88 64.70 

�Z���� (���
��
ก�
	!
�) 69.80 70.06 62.48 66.00 
>��
'�  (���
��
ก�
	!
�) 58.86 61.78 43.99 53.75 
'8�'�  (���
��
ก�
	!
�) 79.01 81.74 75.60 77.86 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก  .��� 

(9"(�
$�!�ก�� 78.49 �� 

  ���� <กก#  .��� 

$�!�ก�� 69.10 �� 

  
����##ก��"  .��� 

$�!�ก�� 61.14 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 58.17 
�� 

  
�"<���"��� 4.26 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
���(*�7*f (SH 08) $�!�ก�� 79.01 �� 

  ������(;�
�+����.*�
 (SH 12) .��� 

<���(�

$�!�ก��  58.86 �� 

  
�"<���"��� 4.26 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 81.74 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 61.78 �� 

  
�"<���"��� 4.26 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f (SH 08) 
.��� 

(9"(�
$�!�ก��  75.60 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 43.99 
�� 

  
�"<���"��� 4.26 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
���(*�7*f        
(SH 08) .��� 

(9"(�
$�!�ก�� 77.86 �� 

  [
������(;�
�$(��+� (SH 02)  .��� 

<���(�

$�!�ก�� 53.75 �� 

  
�"<���"��� 4.26 


��
�������
���[
����$�*�.%-9ก.�������
���[
�-#"(!"
���
�ก�!�
�����������##ก
��ก
�����   <![
���� <กก#  ##ก��"   -�$ก8�$ก����.�������
���[
�-#"(!"
���<���ก�!�
������
�������ก
����� 

 
 �@������
����
��
��� 6 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 6 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.20 

WQI (Pad6)  =     0.176 (BOD) + 0.175 (NO3
-) + 0.168 (PO4

3-) + 0.166 (NH3) +   
 0.160 (pH) + 0.154 (TDS)                                                     (4.20) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 pH �)#  ��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
 TDS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8"-�-��
��� 
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<���"��� 4.27 
�� 


��
�������
�������������ก
����� (6 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 83.82 70.65 68.36 67.06 
SH 02 $(��+� 75.18 63.53 67.82 61.72 
SH 03 $.)#"$ก!� 70.88 72.25 71.56 72.28 
SH 04 �ก!$(!� 73.59 61.93 50.51 57.46 
SH 05 �!�+-�" 67.43 69.67 64.30 64.65 
SH 06 +
#"ก� 81.07 82.16 70.70 72.10 
SH 07 /�ก(�#�
 71.46 75.28 75.58 65.19 
SH 08 ��(*�7*f 77.57 71.44 80.11 79.99 
SH 09 /�ก���$+-8ก 72.80 76.81 71.82 81.12 
SH 10 +
#"%-*" 1 67.76 65.31 67.68 68.15 
SH 11 +
#"%-*" 2 76.43 68.30 66.20 71.91 
SH 12 +����.*�
 67.90 62.26 67.69 63.49 

�Z���� (���
��
ก�
	!
�) 72.92 69.90 68.54 68.91 
>��
'�  (���
��
ก�
	!
�) 67.43 61.93 50.51 57.46 
'8�'�  (���
��
ก�
	!
�) 81.07 82.16 80.11 81.12 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก  .��� 

(9"(�
$�!�ก�� 83.82 �� 

  ���� <กก#  .��� 

$�!�ก�� 70.65 �� 

  
����##ก��"  .��� 

$�!�ก�� 68.36 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 67.06 
�� 

  
�"<���"��� 4.27 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
�+
#"ก� (SH 06) $�!�ก�� 81.07 �� 

  ������(;�
��!�+-�" (SH 05) .��� 

<���(�

$�!�ก��  67.43 �� 

  
�"<���"��� 4.27 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 82.16 �� 

  /
����(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 
61.93 �� 

  
�"<���"��� 4.27 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f (SH 08) 
.��� 

(9"(�
$�!�ก��  80.11 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 50.51 
�� 

  
�"<���"��� 4.27 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�/�ก���$+-8ก        
(SH 09) .��� 

(9"(�
$�!�ก�� 81.12 �� 

  [
������(;�
��ก!$(!� (SH 04)  .��� 

<���(�

$�!�ก�� 57.46 �� 

  
�"<���"��� 4.27 


��
�������
���[
����$�*�.%-9ก -����� <กก#.�������
���[
�-#"(!"
���
�ก�!�

�����������##ก��ก
�����   <![
����##ก��"   -�����$ก8�$ก����.�������
���[
�-#"(!"
���  
<���ก�!�
�������������ก
����� 

 
 �@������
����
��
��� 5 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 5 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.21 

WQI (Pad5)  =     0.208 (BOD) + 0.207 (NO3
-) + 0.199 (PO4

3-) +  
 0.197 (NH3) +  0.189 (pH)                                                     (4.21) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 pH �)#  ��
���� 

��ก(.ก��
��
��!#����.$%&
ก�
-$�( 
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<���"��� 4.28 
�� 


��
�������
�������������ก
����� (5 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 84.04 68.54 66.17 64.53 
SH 02 $(��+� 75.22 61.48 66.26 59.08 
SH 03 $.)#"$ก!� 69.82 70.71 70.52 71.36 
SH 04 �ก!$(!� 74.64 62.19 45.84 54.20 
SH 05 �!�+-�" 66.30 68.35 66.23 61.79 
SH 06 +
#"ก� 79.89 81.58 68.17 69.77 
SH 07 /�ก(�#�
 68.64 74.32 73.78 62.97 
SH 08 ��(*�7*f 78.35 70.91 79.58 80.41 
SH 09 /�ก���$+-8ก 72.63 76.70 69.65 80.92 
SH 10 +
#"%-*" 1 66.26 62.91 64.53 65.55 
SH 11 +
#"%-*" 2 75.97 66.25 63.91 70.30 
SH 12 +����.*�
 66.46 60.34 65.41 60.39 

�Z���� (���
��
ก�
	!
�) 72.20 68.70 66.72 66.98 
>��
'�  (���
��
ก�
	!
�) 66.26 60.34 45.84 54.20 
'8�'�  (���
��
ก�
	!
�) 79.89 81.58 79.58 80.92 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก  .��� 

(9"(�
$�!�ก�� 84.04 �� 

  ���� <กก#  .��� 

$�!�ก�� 68.54 �� 

  
����##ก��"  .��� 

$�!�ก�� 66.17 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 64.53 
�� 

  
�"<���"��� 4.28 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
�+
#"ก� (SH 06) $�!�ก�� 79.89 �� 

  ������(;�
�+
#"%-*" 1 (SH 10) .��� 


<���(�
$�!�ก��  66.26 �� 

  
�"<���"��� 4.28 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 81.58 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 60.34 �� 

  
�"<���"��� 4.28 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f (SH 08) 
.��� 

(9"(�
$�!�ก��  79.58 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 45.84 
�� 

  
�"<���"��� 4.28 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�/�ก���$+-8ก        
(SH 09) .��� 

(9"(�
$�!�ก�� 80.92 �� 

  [
������(;�
��ก!$(!� (SH 04)  .��� 

<���(�

$�!�ก�� 54.20 �� 

  
�"<���"��� 4.28 


��
�������
���[
����$�*�.%-9ก.�������
���[
�-#"(!"
���
�ก�!�
�����������##ก
��ก
�����   <![
����##ก��"   <กก#   -�$ก8�$ก����.�������
���[
�-#"(!"
���<���ก�!�
������
�������ก
����� 

 
 �@������
����
��
��� 4 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 4 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.22 

WQI (Pad4)  =  0.256 (BOD) + 0.256 (NO3
-) + 0.245 (PO4

3-) + 0.243 (NH3)       (4.22) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
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<���"��� 4.29 
�� 


��
�������
�������������ก
����� (4 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 81.37 61.79 58.54 57.40 
SH 02 $(��+� 70.53 53.50 58.98 52.20 
SH 03 $.)#"$ก!� 63.05 65.24 64.17 66.97 
SH 04 �ก!$(!� 68.99 54.76 35.27 46.84 
SH 05 �!�+-�" 60.44 62.66 59.62 55.92 
SH 06 +
#"ก� 75.46 79.58 61.11 67.54 
SH 07 /�ก(�#�
 62.31 70.04 68.31 56.98 
SH 08 ��(*�7*f 74.18 66.22 75.20 78.34 
SH 09 /�ก���$+-8ก 68.37 72.51 62.85 79.25 
SH 10 +
#"%-*" 1 62.21 58.33 59.71 59.48 
SH 11 +
#"%-*" 2 70.63 59.48 56.94 65.20 
SH 12 +����.*�
 60.21 51.55 58.80 51.96 

�Z���� (���
��
ก�
	!
�) 66.94 63.08 60.09 61.88 
>��
'�  (���
��
ก�
	!
�) 60.21 51.55 35.27 46.84 
'8�'�  (���
��
ก�
	!
�) 75.46 79.58 75.20 79.25 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����    
$�*�.%-9ก  .��� 

(9"(�
$�!�ก�� 81.37 �� 

  ���� <กก#  .��� 

$�!�ก�� 61.79 �� 

  
����##ก��"  .��� 

$�!�ก�� 58.54 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 57.40 
�� 

  
�"<���"��� 4.29 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
�+
#"ก� (SH 06) $�!�ก�� 75.46 �� 

  ������(;�
�+����.*�
 (SH 12) .��� 

<���(�

$�!�ก��  60.21 �� 

  
�"<���"��� 4.29 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 79.58 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 51.55 �� 

  
�"<���"��� 4.29 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f (SH 08) 
.��� 

(9"(�
$�!�ก��  75.20 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 35.27 
�� 

  
�"<���"��� 4.29 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�/�ก���$+-8ก        
(SH 09) .��� 

(9"(�
$�!�ก�� 79.25 �� 

  [
������(;�
��ก!$(!� (SH 04)  .��� 

<���(�

$�!�ก�� 46.84 �� 

  
�"<���"��� 4.29 


��
�������
���[
����$�*�.%-9ก.�������
���[
�-#"(!"
���
�ก�!�
�����������##ก
��ก
�����   <![
����##ก��"   <กก#   -�$ก8�$ก����.�������
���[
�-#"(!"
���<���ก�!�
������
�������ก
����� 

 
 �@������
����
��
��� 3 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 3 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.23 

WQI (Pad3)  =  0.338 (BOD) + 0.338 (NO3
-) + 0.324 (PO4

3-)                                (4.23) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
 
 PO4

3- �)#  ��
���� 

��ก(.ก��
��
��!#�E#($E<-E#(E#��( 
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<���"��� 4.30 
�� 


��
�������
�������������ก
����� (3 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 76.76 78.33 75.19 69.87 
SH 02 $(��+� 65.47 68.95 75.99 68.17 
SH 03 $.)#"$ก!� 66.03 82.88 83.27 77.23 
SH 04 �ก!$(!� 71.82 71.56 45.86 51.79 
SH 05 �!�+-�" 60.40 75.36 77.74 69.07 
SH 06 +
#"ก� 71.63 77.77 67.37 73.31 
SH 07 /�ก(�#�
 58.16 81.02 76.38 68.21 
SH 08 ��(*�7*f 68.20 73.30 75.11 71.59 
SH 09 /�ก���$+-8ก 67.61 71.37 81.02 73.17 
SH 10 +
#"%-*" 1 54.48 73.28 76.73 64.15 
SH 11 +
#"%-*" 2 69.46 70.87 73.15 64.93 
SH 12 +����.*�
 67.49 61.29 62.95 58.60 

�Z���� (���
��
ก�
	!
�) 65.52 73.42 72.33 67.29 
>��
'�  (���
��
ก�
	!
�) 54.48 61.29 45.86 51.79 
'8�'�  (���
��
ก�
	!
�) 71.82 82.88 83.27 77.23 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����   
 <กก#  .��� 

(9"(�
$�!�ก�� 78.33 �� 

  ����$�*�.%-9ก.��� 

$�!�ก�� 76.76 �� 

    
����##ก��"  .��� 

$�!�ก�� 75.19 �� 

   -�����$ก8�$ก����  .��� 

<���(�
$�!�ก�� 69.87 
�� 

  
�"<���"��� 4.30 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
��ก!$(!� (SH 04) $�!�ก�� 71.82 �� 

  ������(;�
�+
#"%-*" 1 (SH 10) .��� 

<���(�

$�!�ก��  54.48 �� 

  
�"<���"��� 4.30 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�$.)#"$ก!�        
(SH 03) .��� 

(9"(�
$�!�ก�� 82.88 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 61.29 �� 

  
�"<���"��� 4.30 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
�$.)#"$ก!�       
(SH 03) .��� 

(9"(�
$�!�ก��  83.27 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 
45.86 �� 

  
�"<���"��� 4.30 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�$.)#"$ก!�        
(SH 03) .��� 

(9"(�
$�!�ก�� 77.23 �� 

  [
������(;�
��ก!$(!� (SH 04)  .��� 

<���(�

$�!�ก�� 51.79 �� 

  
�"<���"��� 4.30 


��
�������
���[
�-#"(!"
���.�������
�ก�!�
�����������##ก��ก
�����  ���" 4 
����ก��$���%-9ก���� 

 
 �@������
����
��
��� 2 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 2 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.24 

WQI (Pad2)  =  0.501 (BOD) + 0.499 (NO3
-)                                                           (4.24) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 NO3

- �)#  ��
���� 

��ก(.ก��
��
��!#��
$<��-�
/<�$�
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<���"��� 4.31 
�� 


��
�������
�������������ก
����� (2 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 76.81 86.67 77.08 80.69 
SH 02 $(��+� 64.38 68.02 75.24 69.08 
SH 03 $.)#"$ก!� 65.63 82.41 83.76 77.39 
SH 04 �ก!$(!� 72.33 74.97 61.41 69.19 
SH 05 �!�+-�" 60.43 80.69 76.95 72.09 
SH 06 +
#"ก� 74.72 79.91 65.10 73.24 
SH 07 /�ก(�#�
 55.83 82.59 73.22 68.77 
SH 08 ��(*�7*f 68.35 71.78 70.87 70.19 
SH 09 /�ก���$+-8ก 70.27 70.25 81.79 74.22 
SH 10 +
#"%-*" 1 53.13 73.27 74.09 63.77 
SH 11 +
#"%-*" 2 72.63 76.84 72.43 73.89 
SH 12 +����.*�
 68.36 61.22 53.12 59.07 

�Z���� (���
��
ก�
	!
�) 66.00 74.72 71.64 70.08 
>��
'�  (���
��
ก�
	!
�) 53.13 61.22 53.12 59.07 
'8�'�  (���
��
ก�
	!
�) 74.72 82.59 83.76 77.39 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����   
 <กก#  .��� 

(9"(�
$�!�ก�� 86.67 �� 

  ����$ก8�$ก����  .��� 

$�!�ก�� 80.69 �� 

  
����##ก��"  .��� 

$�!�ก�� 77.08 �� 

   -�����$�*�.%-9ก.��� 

<���(�
$�!�ก�� 76.81 
�� 

  
�"<���"��� 4.31 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
�+
#"ก� (SH 06) $�!�ก�� 74.72 �� 

  ������(;�
�+
#"%-*" 1 (SH 10) .��� 


<���(�
$�!�ก��  53.13 �� 

  
�"<���"��� 4.31 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�/�ก(�#�
        
(SH 07) .��� 

(9"(�
$�!�ก�� 82.59 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 61.22 �� 

  
�"<���"��� 4.31 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
�$.)#"$ก!�       
(SH 03) .��� 

(9"(�
$�!�ก��  83.76 �� 

  A��"(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 53.12 �� 

  
�"<���"��� 4.31 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�$.)#"$ก!�        
(SH 03) .��� 

(9"(�
$�!�ก�� 77.39 �� 

  [
������(;�
�+����.*�
 (SH 04)  .��� 

<���(�

$�!�ก�� 59.07 �� 

  
�"<���"��� 4.31 


��
�������
���[
�-#"(!"
���.�������
�ก�!�
�����������##ก��ก
�����  ���" 4 
����ก��$���%-9ก���� 

 
 �@������
����
��
��� 1 �
�
#��>
��   

��ก(.ก��
��
�������
�������������ก
��������
�
 8 ����.*$<#�, ((.ก�����
4.18)  $.)�#-
���
�
����.*$<#�,-"$+-)# 1 ����.*$<#�,  ���
�(.ก��
��
�������
�����������
��ก
����� 
�"(.ก����� 4.25 

WQI (Pad2)  =  1.000 (BOD)                                                                                     (4.25) 

$.)�# WQI (Pad) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
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<���"��� 4.32 
�� 


��
�������
�������������ก
����� (1 ����.*$<#�,) 

 
�� 


��
�������
�������������ก
��������� 

(;�
� �)�# 
$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 

SH 01 /�"(9�
���$(��+� 53.74 73.50 55.60 61.42 
SH 02 $(��+� 28.91 36.12 50.75 38.23 
SH 03 $.)#"$ก!� 31.43 64.91 67.92 54.86 
SH 04 �ก!$(!� 44.77 50.00 23.15 38.46 
SH 05 �!�+-�" 21.08 61.42 54.04 44.25 
SH 06 +
#"ก� 50.37 59.87 30.47 46.59 
SH 07 /�ก(�#�
 11.82 65.25 46.56 37.61 
SH 08 ��(*�7*f 36.82 43.66 42.92 41.10 
SH 09 /�ก���$+-8ก 40.73 40.73 63.88 48.50 
SH 10 +
#"%-*" 1 6.39 46.63 48.50 27.69 
SH 11 +
#"%-*" 2 45.51 53.74 45.14 48.13 
SH 12 +����.*�
 36.82 22.62 6.57 18.62 

�Z���� (���
��
ก�
	!
�) 32.24 49.54 43.63 40.37 
>��
'�  (���
��
ก�
	!
�) 6.39 22.62 6.57 18.62 
'8�'�  (���
��
ก�
	!
�) 50.37 65.25 67.92 54.86 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����   
 <กก#  .��� 

(9"(�
$�!�ก�� 73.50 �� 

  ����$ก8�$ก����  .��� 

$�!�ก�� 61.42 �� 

  
����##ก��"  .��� 

$�!�ก�� 55.60 �� 

   -�����$�*�.%-9ก.��� 

<���(�
$�!�ก�� 53.74 
�� 

  
�"<���"��� 4.32 


��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
�+
#"ก� (SH 06) $�!�ก�� 50.37 �� 

  ������(;�
�+
#"%-*" 1 (SH 10) .��� 


<���(�
$�!�ก��  6.39 �� 

  
�"<���"��� 4.32 
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��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�/�ก(�#�
        
(SH 07) .��� 

(9"(�
$�!�ก�� 65.25 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 22.62 �� 

  
�"<���"��� 4.32 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
�$.)#"$ก!�       
(SH 03) .��� 

(9"(�
$�!�ก��  67.92 �� 

  A��"(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 6.57 �� 

  
�"<���"��� 4.32 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
�$.)#"$ก!�        
(SH 03) .��� 

(9"(�
$�!�ก�� 54.86 �� 

  [
������(;�
�+����.*�
 (SH 04)  .��� 

<���(�

$�!�ก�� 18.62 �� 

  
�"<���"��� 4.32 


��
�������
���[
�-#"(!"
���.�������
�ก�!�
�����������##ก��ก
�����  ���" 4 
����ก��$���%-9ก���� 

 
$�)�#[+��
�(.ก�����.����
�
����.*$<#�,$+.��(.���(�
(��+���[�� �
(.ก��
��
�

������
������.����
�
 11 ����.*$<#�,  ��"
��(.ก�����(���"���
[+.!��ก(.ก�����.����
�

����.*$<#�,<��" <!  8  �%�
;�"  1  ����.*$<#�,  .��
(#����. <ก<!�"/
�$����ก��(.ก��  11  
����.*$<#�,  [
ก���
(#����. <ก<!�"��"(;*<*���!�(.ก��
��
�������
�������������ก   

��������
�
 3 ����.*$<#�,  .����. <ก<!�"#�!�"�.!.�
��(����`�����
�����.$�)�#.��
��#�-� 95 
A��".��!����[ก-�$���"ก��(.ก��
��
�������
������
�
 11 ����.*$<#�,.�ก���(�
  (���0
�ก �) 

/
�
��
�������
�������������ก
��������
�
 3 ����.*$<#�,  A��"%��ก#�
���
���.<�#"ก��##กA*$�
��"���$�.�  �
$<��-�
/<�$�
   -�E#($E<-E#(E#��(  (�.��;(���"
(.ก���
�
�"(.ก����� 4.23 
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 �@������
����
��
��� 3 �
�
#��>
�� ("
#D#����-,�D>����  ��
#
>!
�ก
�

ก?�����
�@����#�  "��	
�"	H�"	���
�) 

 
����.*$<#�,[
(.ก�����"<�
.���ก��
�����.(����̀ ���09�$�������`�
�[+����.$+8
[


 ��(#�;�.A��"$%&
ก���*�������ก�)�
���
�����/
�����t �%   <!$.)�#�*$����+,��ก0-������
���
[
�)�
���/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  ���!�����.*$<#�,���.�0-���[+�������

���$ก*
���.$()�#./��.[
�)�
���(!�
[+ !̀$ก*
��ก%�*.�� #./.$
��-�
/<�$�
  ���.<�#"ก��
##กA*$�
��"���$�.�   -��#" �8" ��
-#����.�%�*.��(9"  
�"
��
$�)�#[+��
�
��
�������
������
�������ก
��������$+.��(.[
�)�
�����ก	�  ��"
������.*$<#�,
�"ก-!��.�[��[
(.ก�����[+��
�
��
�
������
���
�"(.ก����� 4.26 

WQI (Pad3)  =     0.338 (NH3) + 0.338 (BOD) + 0.324 (SS)                             (4.26) 

$.)�# WQI (Pad3) �)#  
��
�������
�������������ก�)�
���
����� (�� 

) 
 NH3 �)#  ��
���� 

��ก(.ก��
��
��!#� #./.$
��-�
/<�$�
 
 BOD �)#  ��
���� 

��ก(.ก��
��
��!#����.<�#"ก��##กA*$�
��"���$�.� 
 SS �)#  ��
���� 

��ก(.ก��
��
��!#��#" �8" ��
-#� 
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<���"��� 4.33 
�� 


��
�������
�������������ก
����� ( #./.$
��-�
/<�$�
   

���.<�#"ก��##กA*$�
��"���$�.�   -��#" �8" ��
-#�) 
 

�� 


��
�������
�������������ก
��������� 
(;�
� �)�# 

$�*�.%-9ก  <กก# ##ก��" $ก8�$ก���� 
SH 01 /�"(9�
���$(��+� 64.73 47.37 25.58 27.08 
SH 02 $(��+� 65.58 42.99 36.33 14.30 
SH 03 $.)#"$ก!� 34.71 52.84 26.75 51.99 
SH 04 �ก!$(!� 59.46 40.02 9.07 45.26 
SH 05 �!�+-�" 54.80 38.39 19.27 20.78 
SH 06 +
#"ก� 56.99 74.65 24.43 36.89 
SH 07 /�ก(�#�
 54.50 63.14 43.30 40.66 
SH 08 ��(*�7*f 72.46 58.13 55.02 68.25 
SH 09 /�ก���$+-8ก 64.29 62.68 34.20 66.84 
SH 10 +
#"%-*" 1 33.41 35.06 26.38 36.76 
SH 11 +
#"%-*" 2 40.50 50.24 22.82 62.74 
SH 12 +����.*�
 25.11 33.79 27.94 40.38 

�Z���� (���
��
ก�
	!
�) 51.07 50.18 29.59 44.08 
>��
'�  (���
��
ก�
	!
�) 25.11 33.79 9.07 14.30 
'8�'�  (���
��
ก�
	!
�) 72.46 74.65 55.02 68.25 

 
$.)�#
��������
����#"/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  .� �
�!�

[

��
�������
������!�   


��
�������
���[
�-#"(!"
�����*$��(;�
�/�"(9�
���$(��+� (SH 01) �#"����$�*�.
%-9ก  .��� 

(9"(�
$�!�ก�� 64.73 �� 

  ���� <กก#  .��� 

$�!�ก��  47.37  �� 

  
����$ก8�$ก����  .��� 

$�!�ก��  27.08  �� 

   -�����##ก��"  .��� 

<���(�
$�!�ก�� 25.58 
�� 

  
�"<���"��� 4.33 
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��
�������
�������������ก
���������$�*�.%-9ก  ���!�.��� 

(9"(�
��*$��
(;�
���(*�7*f (SH 08) $�!�ก�� 72.46 �� 

  ������(;�
�+����.*�
 (SH 12) .��� 

<���(�

$�!�ก��  25.11 �� 

  
�"<���"��� 4.33 


��
�������
�������������ก
������#"���� <กก#  ���!�(;�
�+
#"ก�        
(SH 06) .��� 

(9"(�
$�!�ก�� 74.65 �� 

  /
����(;�
�+����.*�
 (SH 12)  .��� 

<���(�

$�!�ก�� 33.79 �� 

  
�"<���"��� 4.33 


��
�������
�������������ก
������#"����##ก��"  ���!�(;�
���(*�7*f  (SH 08) 
.��� 

(9"(�
$�!�ก��  55.02 �� 

  A��"(;�
��ก!$(!� (SH 04)  .��� 

<���(�
$�!�ก�� 9.07 
�� 

  
�"<���"��� 4.33 


��
�������
�������������ก
������#"����$ก8�$ก����  ���!�(;�
���(*�7*f        
(SH 08) .��� 

(9"(�
$�!�ก�� 68.25 �� 

  [
������(;�
�$(��+� (SH 02)  .��� 

<���(�

$�!�ก�� 14.30 �� 

  
�"<���"��� 4.33 


��
�������
���[
����$�*�.%-9ก�-#"(!"
���.�������
�ก�!�
�����������##ก��ก
�
����   <![
���� <กก#  ##ก��"   -�$ก8�$ก�����-#"(!"
���.�������<����!�
�����������##ก��ก

�����   
 

	���>
���� 4 �ก�b�����
����
��M�
c@!�$���������ก����"�����, !�
ก �@��
����
����
������
��
ก�
	!
� 

 
ก�� �!"��
���� 

[
ก����ก	�����"
�� �!"$%&
 5 ��
���� 

  �)#  ��
�� 1-5 

��ก
��
�*�������ก�!�<���(�
  (9"(�
  �#" <!-�����.*$<#�,�����
�
���ก[
+�#"%�*��<*ก�� -�
���(
�.  �!���ก.�<�g�
������
���[
 +-!"
���0*�
*
   -�.�<�g�
������
������������*�"
-"��"
���[
$�<�-%����
  /
�
����!�
�"ก-!��.��
(#�[
(.ก��
��
�������
�������������ก

�����  ���!���
���� 

������
�������������ก�)�
���
�����A��".� 3 ��
��
�"ก-!�����"<�
  .�
��
��������
��� 1 $�!�ก�� 61-100 �� 

  ��
��������
��� 2 $�!�ก�� 51-60 �� 

  ��
��
������
��� 3 $�!�ก�� 41-50 �� 

  ��
��������
��� 4 $�!�ก�� 31-40 �� 

   -���
��
������
��� 5 $�!�ก�� 0-30 �� 

  
�"<���"��� 4.34  (���0
�ก c) 
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<���"��� 4.34 
��
�� -��� 

������
�������������ก�)�
���
����� 

 
�� ������
����
 ��"������
����
 (��"��) 

1 61-100 
2 51-60 
3 41-50 
4 31-40 
5 0-30 

 
+.��$+<�: ��
��������
��� 1   +.��;�"   (�.��;�����
���-"(9!��"
���7��.��<*�
� 

��
��������
��� 2   +.��;�"   (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"
������
���[
 +-!"
���  

  ��
��������
��� 3   +.��;�"   (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"
������
��� -������
���-"��"
���[
%�*.��
�#� 

  ��
��������
��� 4   +.��;�"   (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"
������
���  �����
���-"��"
���[
%�*.��
�#� -�%���%��"
������
���ก!#
�����-"(9!��"
��� 

 ��
��������
��� 5   +.��;�"   �.!(�.��;�����
���##ก��ก�)�
���-"(9!��"
���7��.��<*�
�  

 
� '
� �@������
����
���'�!
�	d��ก������
����
c��M�����Pdกe
 
 
0-ก����ก	�
��
�������
�����������##ก��ก
�����  [
�)�
���/��"ก��(!"
��� -�

�����"��ก	��-#"$�����-$(��+�  ��"+��
(������ -���"+��
���
�����#��7��   �!"<�.����ก��
$���%-9ก$%&
 4 ����  �
� ก!  ����$�*�.%-9ก  +.��;�"����ก��
9 -��ก	�����<��" <!ก���;  +�!�
/
%sก
�� ($
)#
��� 1)  ���� <กก#  +.��;�"����ก��
9 -��ก	������!�" <กก# ($
)#
��� 2)  ����
##ก��"  +.��;�"����ก��
9 -��ก	������!�"�������##ก��" ($
)#
��� 3)   -�����$ก8�$ก����  
+.��;�"�������$ก8�$ก����0-0-*< ($
)#
��� 4)  
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0-ก����ก	�
��
�������
�������������ก
��������
�
 3 ����.*$<#�,  A��"
%��ก#�
��� #./.$
��-�
/<�$�
  ���.<�#"ก��##กA*$�
��"���$�.�   -��#" �8" ��
-#�  
���!��� 

����
���ก
��
�������
�������������ก
�����.��*(����+�!�"  9.07-74.65  �� 

  
 -�.��!�$c-���$�!�ก�� 43.52 �� 

  A��"$.)�#$����ก����
��������
������!�.���
��������
���
$�!�ก�� 3  +.��;�"  (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"������
��� -�
�����
���-"��"
���[
%�*.��
�#�  A��"0-����
�
��
��
 ��"ก��������
��� -�(����#" +-!"
���[

�)�
�����*"   


�"
��
$�)�#[+��
�0-ก����ก	�
��
�������
������.����.$+.��(.ก���)�
�����ก	�  ��"

��
��
�������
�������������ก
��������
�
 3 ����.*$<#�,  A��"%��ก#�
������.<�#"ก��
##กA*$�
��"���$�.�  �
$<��-�
/<�$�
   -�E#($E<-E#(E#��(  .�[��ก��0-������
���[

�)�
���/��"ก��(!"
��� -������"��ก	��-#"$�����-$(��+�  /
�.�0-ก����ก	�
�"
�� 

 
��������#$�8ก 
������
���[
�)�
����-#"(!"
��� �
� ก!  (;�
�/�"(9�
���$(��+� (SH 01) .�
��
�������


���$�!�ก�� 76.76 �� 

  A��"#�9![
��
����� 1  (�.��;�����
���-"(9!��"
���7��.��<*�
�  (!�
[
�)�
���
�����
�����ก
�����  ���!�  (;�
�+
#"%-*" 1 (SH 10) .��� 


��
�������
���<���(�
$�!�ก�� 
54.48 �� 

  #�9![
��
�� 2  (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"������
���
[
 +-!"
���  ����.*$<#�,���$%&
0-[+�������
���$()�#./��.  �
� ก!  ���.<�#"ก��##กA*$�
��"
���$�.�  �#" �8" ��
-#�   -� #./.$
��-�
/<�$�
  $
)�#"��ก��*$����
$ก8�<��#�!�"
�����!
.�ก 
$ก	<�ก��
��;
� -�%-!#�
���(9!�-#" A��".�<�ก#

*
 -�$�	A�ก�)����
�
.�ก�+--"(9!-���-#"  
(;�
��ก!$(!� (SH 04) .��� 


��
�������
���(9"(�
$�!�ก�� 71.82 �� 

  #�9![
��
����� 1  
(�.��;�����
���-"(9!��"
���7��.��<*�
�  
���[
��*$����
$ก8�<��#�!�"�!#
���"[( (<���"��� 4.35) 
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<���"��� 4.35 

��
�������
�������������ก
����� (3 ����.*$<#�,) 

����$�*�.%-9ก (�.�. 2552) 
 

'S
�� @M�
 
��"�� �@������
����
������
�

�
ก�
	!
� 
�� ������
����
 

SH 01 /�"(9�
���$(��+� 76.76 1 
SH 02 $(��+� 65.47 1 
SH 03 $.)#"$ก!� 66.03 1 
SH 04  �ก!$(!� 71.82 1 
SH 05 �!�+-�" 60.40 2 
SH 06 +
#"ก� 71.63 1 
SH 07 /�ก(�#�
 58.16 2 
SH 08 ��(*�7*f 68.20 1 
SH 09 /�ก���$+-8ก 67.61 1 
SH 10 +
#"%-*" 1 54.48 2 
SH 11 +
#"%-*" 2 69.46 1 
SH 12 +����.*�
 67.49 1 
>��
'�  (���
��
ก�
	!
�) 54.48 2 
'8�'�  (���
��
ก�
	!
�) 71.82 1 
�Z���� (���
��
ก�
	!
�) 65.52 1 

 
����">กก
 
������
���[
�)�
����-#"(!"
��� �
� ก!  (;�
�/�"(9�
���$(��+� (SH 01) .�
��
�������


���$�!�ก�� 78.33 �� 

  #�9![
��
����� 1  (�.��;�����
���-"(9!��"
���7��.��<*�
�  [
�)�
���
�����
�����ก
�����  ���!�  (;�
�+����.*�
 (SH 12)  .��� 


��
�������
���<���(�
$�!�ก�� 
61.29 �� 

  #�9![
��
����� 1  (�.��;�����
���-"(9!��"
���7��.��<*�
�  ����.*$<#�,���$%&
0-
[+�������
���$()�#./��.  �
� ก!   #./.$
��-�
/<�$�
  ��*$����
$ก8�<��#�!�"
���[( .�$�	[��.�
-#�[

���  �!�"
��$ก	<�ก�.�ก[(!%�l������"<�
�������[+�.�%�*.�� #./.$
��$�*�.���
  (;�
�$.)#"$ก!� 
(SH 03) .��� 


��
�������
���(9"(�
$�!�ก�� 82.88 �� 

  #�9![
��
����� 1 $�!
$
���ก�
   
(<���"��� 4.36)      
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<���"��� 4.36 

��
�������
�������������ก
�����  (3 ����.*$<#�,) 

���� <กก# (�.�. 2552) 
 

'S
�� @M�
 
��"�� �@������
����
������
�

�
ก�
	!
� 
�� ������
����
 

SH 01 /�"(9�
���$(��+� 78.33 1 
SH 02 $(��+� 68.95 1 
SH 03 $.)#"$ก!� 82.88 1 
SH 04  �ก!$(!� 71.56 1 
SH 05 �!�+-�" 75.36 1 
SH 06 +
#"ก� 77.77 1 
SH 07 /�ก(�#�
 81.02 1 
SH 08 ��(*�7*f 73.30 1 
SH 09 /�ก���$+-8ก 71.37 1 
SH 10 +
#"%-*" 1 73.28 1 
SH 11 +
#"%-*" 2 70.87 1 
SH 12 +����.*�
 61.29 1 
>��
'�  (���
��
ก�
	!
�) 61.29 1 
'8�'�  (���
��
ก�
	!
�) 82.88 1 
�Z���� (���
��
ก�
	!
�) 73.42 1 

 
����

ก��� 
�)�
����-#"(!"
��� �
� ก!  (;�
�/�"(9�
���$(��+� (SH 01) .�
��
�������
���$�!�ก�� 75.19 

�� 

  #�9![
��
����� 1  (�.��;�����
���-"(9!��"
���7��.��<*�
�  �)�
��������
�����ก
��������!�  
(;�
��ก!$(!� (SH 04)  .��� 


��
�������
���<���(�
$�!�ก�� 45.86 �� 

  #�9![
��
�� 3  (�.��;
�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"������
��� -������
���-"��"
���[
%�*.��
�#�  
����.*$<#�,������[+�������
���$()�#./��.  �
� ก!   #./.$
��-�
/<�$�
  �#" �8" ��
-#�   -����.
<�#"ก��##กA*$�
��"���$�.�  ��
$ก8�<��#�!�".�%�*.��
���
�#�  �!#
���"��!
 [

���.�$�	ก*�"�.� -�[��.�
-#�#�9!���
�
.�ก  (;�
�$.)#"$ก!� (SH 03)  .��� 


��
�������
���(9"(�
$�!�ก�� 83.27 �� 

  #�9!
[
��
����� 1  (�.��;�����
���-"(9!��"
���7��.��<*�
�  ��
$ก8�<��#�!�"
����!#
���"[(  (<���"��� 4.37) 
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<���"��� 4.37 

��
�������
�������������ก
�����  (3 ����.*$<#�,) 

����##ก��" (�.�. 2552) 
 

'S
�� @M�
 
��"�� �@������
����
������
�

�
ก�
	!
� 
�� ������
����
 

SH 01 /�"(9�
���$(��+� 75.19 1 
SH 02 $(��+� 75.99 1 
SH 03 $.)#"$ก!� 83.27 1 
SH 04  �ก!$(!� 45.86 3 
SH 05 �!�+-�" 77.74 1 
SH 06 +
#"ก� 67.37 1 
SH 07 /�ก(�#�
 76.38 1 
SH 08 ��(*�7*f 75.11 1 
SH 09 /�ก���$+-8ก 81.02 1 
SH 10 +
#"%-*" 1 76.73 1 
SH 11 +
#"%-*" 2 73.15 1 
SH 12 +����.*�
 62.95 1 
>��
'�  (���
��
ก�
	!
�) 45.86 3 
'8�'�  (���
��
ก�
	!
�) 83.27 1 
�Z���� (���
��
ก�
	!
�) 72.33 1 

 
�����กH��ก���� 
������
���[
�)�
����-#"(!"
��� �
� ก!  (;�
�/�"(9�
���$(��+� (SH 01) .�
��
�������


���$�!�ก�� 69.87 �� 

  #�9![
��
����� 1  (�.��;�����
���-"(9!��"
���7��.��<*�
�  [
�)�
��������

�����ก
��������!�  (;�
��ก!$(!� (SH 04)  .��� 


��
�������
���<���(�
$�!�ก�� 51.79 �� 

  
#�9![
��
�� 2  (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"������
���[
 +-!"
���    
����.*$<#�,���$%&
0-[+�������
���$()�#./��.  �
� ก!   #./.$
��-�
/<�$�
   -��#" �8" ��
-#�  

�����*$����
$ก8�<��#�!�".�����)��*.��

�   -�.��)�
���[

�+
� 
!
 
����!#
���"��!
  (;�
�$.)#"
$ก!� (SH 03)  .��� 


��
�������
���(9"(�
$�!�ก�� 77.23 �� 

  #�9![
��
����� 1  (�.��;�����

���-"(9!��"
���7��.��<*�
�  ��
$ก8�<��#�!�"
���$%&
�-#"�����
����+-$�8�  -�
���[( (<���"��� 4.38)  
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<���"��� 4.38 

��
�������
�������������ก
�����  (3 ����.*$<#�,) 

����$ก8�$ก���� (�.�. 2552) 
 

'S
�� @M�
 
��"�� �@������
����
������
�

�
ก�
	!
� 
�� ������
����
 

SH 01 /�"(9�
���$(��+� 69.87 1 
SH 02 $(��+� 68.17 1 
SH 03 $.)#"$ก!� 77.23 1 
SH 04  �ก!$(!� 51.79 2 
SH 05 �!�+-�" 69.07 1 
SH 06 +
#"ก� 73.31 1 
SH 07 /�ก(�#�
 68.21 1 
SH 08 ��(*�7*f 71.59 1 
SH 09 /�ก���$+-8ก 73.17 1 
SH 10 +
#"%-*" 1 64.15 1 
SH 11 +
#"%-*" 2 64.93 1 
SH 12 +����.*�
 58.60 2 
>��
'�  (���
��
ก�
	!
�) 51.79 2 
'8�'�  (���
��
ก�
	!
�) 77.23 1 
�Z���� (���
��
ก�
	!
�) 67.29 1 

 

��
�������
�������������ก
�����[
�)�
���/��"ก��(!"
��� -������"��ก	��-#"

$�����-$(��+�  ��"+��
(������ -����
�����#��7��  $c-������" 4 �����#"ก��$���%-9ก�������!�  
.��� 

$c-���<���(�
��*$��(;�
� SH 04  �ก!$(!� $�!�ก�� 60.26 �� 

  ������
���#�9![
��
�� 2  
(�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"������
���[
 +-!"
���  �� 

$c-���
(9"(�
��*$��(;�
� SH 03 $.)#"$ก!�  $�!�ก�� 77.35 �� 

  #�9![
��
����� 1  (�.��;�����
���-"(9!
��"
���7��.��<*�
�   -��� 

$c-���������
�������������ก
������#"/��"ก��(!"
��� -�
�����"��ก	��-#"$�����-$(��+� $�!�ก�� 69.64 �� 

  #�9![
��
����� 1  (�.��;�����
���-"(9!��"
���
7��.��<*�
�  ����.*$<#�,(!�
[+ !̀������[+�������
���.��� 

<���  �)#  ���.<�#"ก��##กA*$�
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��"���$�.�  �#" �8" ��
-#�   -� #./.$
��-�
/<�$�
  $
)�#"��ก[
ก�����
�<�#".�ก���;
�  
[(!%�l�$�)�#$�*�.0-0-*<  ���[+�
���[

��!#
���"��!
 -�.�ก��$�)#��"�#"(��#�+��<!�"t ���
$ก	<�ก�[(!$�)�#�����"
*
-"(9! +-!"
���  ��"$%&
0-[+�������
���.�ก��$%-���
 %-"�%��ก$
*.  
(<���"��� 4.39) 

<���"��� 4.39 

��
�������
�������������ก
����� (3 ����.*$<#�,) 

$c-��� 4 ����ก��$���%-9ก 
(�.�. 2552) 

 

'S
�� @M�
 
��"�� �@������
����
������
�

�
ก�
	!
� 
�� ������
����
 

SH 01 /�"(9�
���$(��+� 75.04 1 
SH 02 $(��+� 69.64 1 
SH 03 $.)#"$ก!� 77.35 1 
SH 04  �ก!$(!� 60.26 2 
SH 05 �!�+-�" 70.64 1 
SH 06 +
#"ก� 72.52 1 
SH 07 /�ก(�#�
 70.94 1 
SH 08 ��(*�7*f 72.05 1 
SH 09 /�ก���$+-8ก 73.29 1 
SH 10 +
#"%-*" 1 67.16 1 
SH 11 +
#"%-*" 2 69.61 1 
SH 12 +����.*�
 62.58 1 
>��
'�  (���
��
ก�
	!
�) 60.26 2 
'8�'�  (���
��
ก�
	!
�) 77.35 1 
�Z���� (���
��
ก�
	!
�) 69.64 1 
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$.)�#$%����$������ 

����
���ก
��
�������
�������������ก
�����  ��+�!�"���
�
 
11  -� 3 ����.*$<#�,  
�"<���"��� 4.40 ���!�������
���[
�-#"(!"
���(;�
�/�"(9�
���$(��+�    (SH 
01) .�
��
�������
���$�!�ก�� 77.11  -� 75.04 �� 

  <�.-��
��  #�9![
��
����� 1  (�.��;�����

���-"(9!��"
���7��.��<*�
�  [
�)�
��������
�����ก
��������!����
�
 11 ����.*$<#�,.��� 

$c-���
$�!�ก�� 77.01 �� 

  /
�������
�
 3 ����.*$<#�,.��� 

$c-���$�!�ก�� 69.64 �� 

  A��".�������

���#�9![
��
����� 1 $�!
$
���ก�
  �ก$��
[+�(;�
��ก!$(!� (SH 04) $.)�#[��
��
����
�
 3 ����.*$<#�,  
��
��������
���ก-��#�9![
��
����� 2 (�.��;�����
���-"(9!��"
���7��.��<*�
� <!���$hO�����"
������
���[
 +-!"
���  $
)�#"��ก.�%�*.��E#($E<-E#(E#��([

���(9" (������ 4.25  -� 4.26) 

<���"��� 4.40 
$%����$������ 


��
�������
�������������ก
��������
�
 11  
 -� 3 ����.*$<#�,  $c-��� 4 ����ก��$���%-9ก (�.�. 2552) 

 

��"�� �@������
����
���
���
��
ก�
	!
� 

�� ������
����
 
'S
�� @M�
 

11 ����.*$<#�, 3 ����.*$<#�, 11 ����.*$<#�, 3 ����.*$<#�, 

SH 01 /�"(9�
���$(��+� 77.11 75.04 1 1 
SH 02 $(��+� 76.01 69.64 1 1 
SH 03 $.)#"$ก!� 77.79 77.35 1 1 
SH 04  �ก!$(!� 71.53 60.26 1 2 
SH 05 �!�+-�" 72.79 70.64 1 1 
SH 06 +
#"ก� 79.79 72.52 1 1 
SH 07 /�ก(�#�
 80.23 70.94 1 1 
SH 08 ��(*�7*f 82.98 72.05 1 1 
SH 09 /�ก���$+-8ก 81.26 73.29 1 1 
SH 10 +
#"%-*" 1 74.07 67.16 1 1 
SH 11 +
#"%-*" 2 76.96 69.61 1 1 
SH 12 +����.*�
 73.75 62.58 1 1 
>��
'�  (���
��
ก�
	!
�) 71.53 60.26 1 1 
'8�'�  (���
��
ก�
	!
�) 82.98 77.35 1 1 
�Z���� (���
��
ก�
	!
�) 77.01 69.64 1 1 
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������ 4.25  

��
�������
�������������ก
����� (11 ����.*$<#�,) 

$c-��� 4 ����ก��$���%-9ก 
(�.�. 2552) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 
 

���
�����#��7 
(������ 
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������ 4.26  

��
�������
�������������ก
����� (3 ����.*$<#�,) 

$c-��� 4 ����ก��$���%-9ก 
(�.�. 2552) 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

���
�����#��7 
(������ 


